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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

“To soul with perfect virtue's strength endued,

Brings no disgrace the lack of every earthly good”

Which is the highest attribute mentioned by Valluvam for scholars?
(A) Physical strength (B) Will power

(C) Poverty (D)Aand B

@) 6TemLD RHEUMEG @) 6rfleueTm FmevG)LIEOTEI LD

) evoTemLDD_600T LT&HLT QLI 6oT”

FIOTGMM(HEHE GUETEBEILD FnMID 2 WU LIGTOTL| 6TSI?

(A) 2_L6v auedlemin (B) et suedlemin

(C) @sveumemin (D) Awmmiib B

Choose the correct statement regarding Self-Respect Marriage
1. It is considered as a contract between two life partners
2. C.N. Annadurai, gave legal recognition to them by passing the Hindu Marriage

Act, 1956
(A) 1 only (B) 2 only
(C)1and 2 (D) None of these

Fwwiflwmensg S Loevord LMmmlw Siflwmer samenms CHFH6S0

1. @& @ QUTDEHEMES 560 6vorUIl6oT(H 5 6mL GUIWITET eLILIBSLD 6T60T8 SHIHSLILILL I

2. @Qbs HHeE FLLID, 1956-23 BlemmCGaummiwigerr eweuld C.N. 2|60oT600TTSI60 T
@& FLLFHWTET BIS&HTTLD 6fSSTT

(A)1 (b (B) 2 bL_(hLDd

(©) 1 HmiDd 2 (D) @eummlev ergia]levemey

The Mangulam Tamil-Brahmi inscription mentions the Pandya King

(A) Nedunchezhiyan (B) Irungovenman

(C) Peruvazhuthi (D) Thithiyan

MBEIGeTD SEWL-LNTml 560060 (H LIMeooTIq Ul | [J& 60T o GOILILNGSR aTms!
(A) QBB 5@ & LWl wlesT (B) @ (mmiGssmGe6vor L0 MedT
(©) QLBUWS (D) 88 wieor

Which of the following are prominent Jain works in Tamil?

1. Naladiyar 2. Palamoli

3. Jivaka Chinthamani 4. Yapperunkalam Karikai

5. Neelakesi 6. Silappathikaram

(A)1,2,3and 5 (B)1,2,3,4and 5
(C)1,2,3and 6 (D) All the above

L9 60760 (1H 61 60T6U M MIGIT 6TemEU (L& UILDITET HLAILD FLOETOT HT6VE6IT ?

1. BITELIQUIMTIY 2. LA

3. FausF B S0 6vof] 4. WMLIQUIHBI&HeVHE T a0

5. HeuG&HF 6. AL ILIFH&TILD

(A) 1,2, 3OO 5 (B)1,2,3,4 bOQILD 5
©)1,2,30mHMID 6 (D) CLom&600TL. 2 60)60TS SILD
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Yuna Puraskar award is given by which of the following organization?
(A) Ministry of Woman and Child Development

(B) Sangeet Natak Akademi

(C) Sahitya Akademi

(D) Ministry of Information and Broadcasting

LNedTeu(BLD 6TH S SjemDLILIMEL W6l LFenaTT afl(hgl eupmisliUG&mE?
(A) QUIETOTSH 6T LDMMILD GLPHENSHEET [HeV GLOWUITL (h S eMDFF&HLID

(B) IS BTL& &ML

©) smr®mswW oMLl

(D) &6160 IDHMID EOILTLILSSINM eMNFFELD

Who translated the books “Present India, Echo” of Swami Vivekanandha into Tamil?

(A) G. Subramania Iyer (B) Subramania Bharathiyar

(C) Subramania Siva (D) V.O. Chidambaranar

Fgaumdl ellGeusmenrhgifler Lssammisermer, “Present India, Echo” eu@weimenm sdlidlev
QULMPAQUWISSUT WITH?

(A) G. &Liywevoflw swi (B) &LigLeooflw LMy WImy

(O) srlipneooflw P eurr (D) V.O. @\ sbLigeot Ty

Which of the following state doubled OBC reservation in Education and Government

employment?
(A) Odisha (B) Andhra Pradesh
(C) Telangana (D) Chhattisgarh

GG &HeuoTL InMBlevmiGerTlev 618 @57 HUBSSLILILGLMHEHS (OBC) H6vall LDMHMILD &|T&
GauemevalmuiLIL&erflel @)L SI&SHL el @)@ 0L BISTEHESIIS?

(A) e (B) o687 NpCs&LD

(C) OBaumismeoTIT (D) FLIcoV&IT

Arrange the following plans in correct chronological order

1. People’s Plan 2. Bombay Plan

3. Gandhian Plan 4. Vishveshwarya Plan

(A) 1-2-3-4 (B) 4-3-2-1

(C)1-2-4-3 (D) 2-1-4-3

Nesreu@Ld B Lmigsemer Fiflwmer &mevalflensliL(h &S5

1. ID&&6T HLL LD 2. LUMbGU S L LD

3. &MHHW S LD 4. eflervGaueneuruwm S LD
(A) 1-2-3-4 (B) 4-3-2-1

(C)1-2-4-3 (D) 2-1-4-3
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Choose the incorrect statement regarding unemployment

1. Structural unemployment exists during the downturn phase of trade cycle in the economy

2. In a business cycle during the period of recession and depression, income and output fall
leading to widespread unemployment

3. Cyclical unemployment can be cured by public investment or expansionary monetary
policy

(A) 1 only (B) 2 only (C)2and 3 (D)1and 3

GauemevwiletTemld GMIG S HeUMTET FanMHenMmS CHTHE S M

1. QUTBETTHMTISEHET, aiHss &m& oflalldy 2 6TeamCUME  SeOWLILISTH
Geuemevuileremn & mevor LILI(HILD

2. aumesoflLl S-LpMmF Ufev LYedtenllmME &0 DMHMILD DHSHHIe6V &HITeVMEIGHE I 2 MLIGEH nmHMILD
QU(HLOITEOTLD GHeMMH S GausmevwileiTemin 245 &ifl& @D

3. ATFH WSSl AFEHEHH evevg alliflaumenr Lisooralllleh Q& T6Ten 88 6m 68
&6 L1985 56V eLn6VLD &rLpev CalemeuUIeTemnLDemUIS & 6MM&&6VITLD

(A) 1 LD (B) 2 bL_(hLD (C) 2 bmmib 3 (D) 1 opmilb 3

Srivilliputhur “Grizzled Squirrel Wildlife Sancturary” is located on which part of Western
Ghats?

(A) Cardamom hills (B) Varusanadu hills

(C) Pothigai hills (D) Mahendragiri hills

wfellevedlLIG ST FMDLIEV BIM {60016V &H6T FFeT MoV CLMGSASTLFFH Lnemevudleor
6THSL LIGH UL 160 DHSI6TETSI?

(A) g6v66TUI LDEDIGY (B) aumemT(H) LD6m6Y

(©) QuUITEHems Lnem6V (D) nCasmH TR Lnemev

The Narmada river flows to the west, while most of the peninsular rivers flow to the east why?
1. Presence of a riftvalley in that region

2. It flows between the Vindhyas and the Satpuras Ranges

3. The land slopes to the west from Central India

(A) 1 only (B)2and 3

(C)1and 3 (D) None of these

QUBLOLIMeLTET HLSGML SmMiGeT RPHEG CHTHESH UTllansulley BILST BH CLMHEG
GBMTEHS LUIMUIeS! 6J60T?

1. UUGH U LNemeyLILIeTeTs & MeH @G 2 60LDbHSI6TenS!

2. @& B W MHMILD FTSLTT DeMVSESTLTHEHEHR L CUl LITUSMS

3. BlewlILGS LEHW @S Wmeledmbg CLMEG CHITEE FTUlbHSIETETS T

(A) 1 L GILb (B) 2 bpmib 3

(O) 1 wpoid 3 (D) @eupilev e1gieSl6vemney
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The HCF of two numbers is 2 and their LCM is 154. If the difference between the numbers is
8, then the sum is
(A) 26 (B) 36 (C) 46 (D) 56
@\(p eTevorS 66T LS.QLIME. 2 MM Heummler W.8).10 154 jeuell(h 6T600T5 &% 60 G
2 _6iTem GeumiLIM(® 8 eTevflev, SjeumN 6T Fo(hSH6V 6T60T60T?
(A) 26 (B) 36 (©) 46 (D) 56

Who is the first transgender to be appointed as a nurse by Tamil Nadu Government?

(A) Prithika Yashini (B) Tharika Banu

(C) Sathyasri Sharmila (D) Anbu Ruby

SOLBTH T&FTeL QEFelledWTms BIWL6TD QEFWWLILLL (N&6V H(BHBIENS WIMTH?
(A) Iflse s wriefl (B) sriflesm Limssy

(C) 5w, aqydlerm (D) oyeory bl

Simple interest on a certain sum at a certain annual rate of interest is % of the sum. If the
numbers representing rate percent and time in years be equal, then the rate of interest is
(835 % (B) 5% (©)6 =% (D) 10%

@M SOHUNLL 95n66E¢ GMILUULL el gefss556 DL EG SHaflallly oi56r
I|Fem6v GLIMeY é DL MBI G, 3HS QSTeN&HEG aUpmISLILIGLWD el 196f5 oL, SmeunLd

FLOLD 6Tefl6v, UL 1q eF&LD 6TedT6oT?

(A)3 g % (B) 5% €6 g % (D) 10%
The value of G ofli) = (2 g = 3&) is

20 5 119
(A) Tes (B) 1 © " (D)1 T80

5 6 - E - l - 3

(; oflg)T(Z > = 34)66rm®|_||_|?

20 5 119
(A) Tes (B)1 © " (D)1 T80

Which of the following Amendment bifurcated the National Commission for SCs and STs into
two separate bodies?

(A) 82nd Amendment Act, 2000 (B) 89th Amendment Act, 2003

(C) 95t Amendment Act, 2009 (D) 79t Amendment Act, 1999

LNedTeu@ld 6THS HHSSHEF FLLID STLSSUILLCLTT WMMID  LILPHIGLY.ul6orH & & meor
CHF W e 600T UGS @) TevoT(h) &6t 55601 el &Hen s LNiflHs581?

(A) 8298 RS 5HF FL_L LD, 2000 (B) 89%8 @\h5 55 FL L Lh, 2003

(C) 958 BBHS5E FLLLD, 2009 (D) 79*2 S ®SHS& FLLID, 1999
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Choose the correct statements regarding education in Chola period

1. Rajaraja Chaturvedi Mangalam was the famous seat of a Vedic college.

2. A Vedic college flourished at Tirubuvanai.

3. Tiruvidaikkalai inscription mentions a library.

4. Kandhalur Salai was the famous college during the Cholas.

(A)1,2and 3 (B)1,3and 4

(G 1and 3 (D) All the above

GFMPISHTE H6V6N QG TLFLITeT &I SaMmis&eneTs CHTHOSH0)

1. prRrmgeailear FaFGad BIGW LHLEUMm Gass Hanfléad @mULLIms
QAOD58!

2. HoyUamearwle @ Caughd Haryl QFfleHEsThmeH W s

3. HGANMLESTM6T SR (D BIevsg L Limme GmUNGh&S msl

4. G&FMOT HMLEHH 6V, HITHHEEHT FMen6eL L|SHLLOLIMM &6l ol @&LWDh

(A)1,20poid 3 (B) 1, 3 bOLD 4

(C©)1wmmib 3 (D) GLoMm&600TL. 360)60T& SILD

Rights of Persons with Disabilities Act, 2016 increases the types of disabilities from 7to ___

(A) 13 (B) 17 (C) 19 (D) 21

WTOHSH meTmeflEErssTeor 2 flemngeT FLLD, 2016 6Td &MU T(H &6l eor
QUM & G067 60l (BIH S 25 GG Sai6Tengl

(A) 13 (B) 17 (©) 19 (D) 21

Choose the correct statement about IMPART (IMproving PARTicipation)

1. It motivates the students to prepare indigenous projects with a view of enhancing their
learning experience.

2. This scheme is implemented in 9 districts which records lower literacy rate.

3. Inthis special initiative, teachers were trained to guide the students

(A)1and 2 (B)2and 3

(G 1and 3 (D) All the above

UenL_LILEmy smmeL S L1 Lmmlw FflwumeT samenms CHTHGSM0

1. LDTEsOTEU & 6T SHBIGHEHeMLL HMHMEV 3 eDILIAIMBIG6T 2 WTSHGHILD CBHTHS 60
QEFMBSIDMTHE QFW6 FHL L HISG6TS SWMfleEs @& 28 Gall&Hme)

2. GBS Gevallwnle KR EHmME Q&MeroTL 9 LOMaIL L HBI&6T e @b HILL LD
QEFEWaLILRSSLILOS M.

3. @FPmULY WWMmHHUI WmeamalisEhsE UPsTLHasmsTs WA FUTsHEHs S
WM& oefsealIUL(HeTengl

(A) 1 ommild 2 (B) 2 nmmith 3

(C)1wmmib 3 (D) GLom&H600TL. | 60)60TSH SILD
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20. Choose the correct statement

21.

22,

23.

1. India is the second largest producer of fruits and vegetables in the world

2. World Food Day is celebrated on October 16 every year

(A) 1 only (B) 2 only

(C)1and 2 (D) None of these

gflwmer gaHenms CHIHOS 0

1. 2 eusaTallel SHeoflgmeT MmN SHTUSMGET 2 MUSHUNH @BHHWT @IesorL M @)L LD
AR &R M

2. 6ICAIMIH 2600T(HLD ASHELITLIT 16 2 608 2 60016 HleTlnms HenL LN &&IUGR MS

(A)1 (b (B) 2 nL_(p\bd

(C)1mHmid 2 (D) @eummlev eTgia]dl6vem6v

Which policy of the Government was launched to achieve the specific goal of “Malnutrition
free Tamil Nadu”?

(A) Integrated Child Development Services Scheme

(B) Swadhar Greh

(C) Child Health Protection Scheme

(D) Beti Bachao Beti Padhao Scheme

"SUODHTLML 26T LFFSHH GSOMUTLMM" WABlenTs: wrmhmeaeans LFysmer
Q& MTETEN & UITSH Q&TE00TL | TH 60T HL_L_LD 6TSHI?

(A) MBS em6THS GLLHMS UeTIEFLI Lievo&6T SHIL_L LD

(B) 5m1®\W &MTev HMHIGLD )6V6VLD

(C) BLHMSHET Hev LIMSISGTLILS HLL LD

(D) QuetoT GLPHEM G 6M6TE &ITLIGLIMLD, QLG &PHendsH& SMHLUILICUTLD S L LD

Choose the correct statement

(A) Bacteria are multi celled Prokaryotes

(B) Bacteria are grouped under kingdom Protista

(C) Virus has an outer covering known as the cell wall

(D) Virus are inactive when present freely in the environment

Flwner gamenms CHIHOS0

(A) urmsIelWBIsET 6w QFeveumeumeT LICTTCHFIGWITL(H&H6T 2b,@E LD

(B) ums e flumnkigerT, euendLILmLIquiedey LGTTLIQ6VLIT 2 60855 6T SLb
QL LbQUMHMIETATSI

(C) emeurgev, QF6L &euly eTeor L ILIGILD Q66 085 enerd 6 & meoor(h eTemg!

(D) emeugeivgs6T & 6orenf1&6m& WImenT & Lp6edley QEFWwevmm Mlemeuuilev & mevor L1LI(H 6 6dT M 6ot

Till date how many times the National Emergency has been proclaimed in India?

(A1 (B) 2 (OK;] (D) 4

@b&H wmeilev @ &leueny 6155 55 60)60T (penm CxF W 3|QUFTBlem6v
s Lerliu®SSLIUL B 6Tengi?

(A1 (B) 2 (OK;] (D) 4
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24. Choose the correct statement about Preamble

25.

26.

1. Itis not enforceable by courts.

2. Itisa part of the Constitution.

3. Preamble enshrines narrow objectives of governments.

(A) 1 only (B) 2 only (C)1and 2 (D)1,2and 3
Waeajer upDlw Fflwner saHenms C5HES0

1. @eaupenm BHLGTDSSTEH HOOLOSHS LPIGW S

2. @& TR WeemLILN6T (H LIGH WTGLD

3. (P&HAMT S T&GHT 6T GG W CIHITE 8 MG 6T 2_6T6TL &5 W S

(A) 1 DL (D (B) 2 nL_(pLD (C)1wmmib 2 (D)1, 2 nmmild 3

Choose correct statement about Irrigation during Gupta period

1. Canals were constructed not only from rivers but also from tanks and lakes

2. Jalanirgamah (drains) were constructed to prevent inundation which is mentioned in the
book called Narada smriti

3. The most famous lake was the Sudarsana lake at the foot of Girnar hills in Gujarat

(A)1and 2 (B) 2 only

(G 1and 3 (D) All the above

GUST STevSH 6T LimgFerd Limmlw FiflumeT samenms CHTHOS0

1. BE&efledBHE L (HLdleVeuTL6Y, giflsefled b sin GRIEE AN GIGE)
QUMUIGSHTEVEHET 600G 8 LILILL_60T

2. Geooteool] CHMBGUMSES SHHEH QEVBITHIOT 66T  U&HTVSGT G (BHSHSHMTSH
BITTS 6V BS 6Tedrm HredleL &ML LIl (B 6Terg)

3. GRYUMHHT STy DemeUNeT SQaITISH0 @BHS &sigearm gl Wsen

H&DOUDOMSTGLD
(A) 1 mHmib 2 (B) 2 nL_(h\d
(C©)1wmHmibd 3 (D) GLoM&600TL. 2|6M60TSH SILD

Choose the correct statements about planned towns in Indus Valley Civilisation

1. The Harappans used stones, baked and unbaked bricks for constructiion

2. The towns had a grid pattern and drainages were systematically built

3. Rakhigarhi in Gujarat is one of the planned cities

(A) 1 only (B)2and 3 (C) 3 only (D)1and 2

Ahg Fweealef Brafleasder SULIALLULL BHEIBISGET UMM SFflWmer damhenms

CaIBESMH

1. amylur  10&&H6T &SLOWTOTSHSIHEG SHMEHeTUD, &L  Wmmin  &LIS
QEMmIGMGEMETULD LIW6TLH &S 6T

2. BHIBIGET FLL& allgalemnlienUud wmmib &¥leBl allg&sm&s6eT S Lall L L0mer
QR(OMIGL I &L L LILIL L 60T

3. GRTTEHEH 2 6Tem FrER&ETFam H UL IO LUL L B&HJHEIS6 60 eeTmmELD

(A) 1wl @W (B) 2 omih 3 (C) 3 wLEW (D) 1 momiLD 2
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27. Who defeated Pattabhi Sitaramaya, Gandhi’s candidate and became the President of the
Congress in 1939?
(A) Subhas Chandra Bose (B) Maulana Abul Kalam Azad
(C) Rajendra Prasad (D) Jawaharlal Nehru
SThEHUNer GeuluUmerymeor LLLMY Fgsmpmwuwmemnel efhsSH 1939-10  e00T(H)
STHIG TN SenevalTms LGalsE albsaul Wmp?
(A) sumeq FHET LT (B) QLOETELITEDTIT BIL|6L HEVITID LTS
(O) pregn®r Ursns (D) geuamieumey GH@®
28. To which period the great literary works of “Kamba Ramayanam” and “Periyapuranam”
belong?
(A) Chalukyas (B) Vijayanagar Empire
(C) Later Cholas (D) Pandyas
QU@L @eVESEHIWLI LML LIL&HETTer "SLILUTTINTU6rD” wmmild  "QuiflwLymeorn”
B W6 6THS STV LSNSHF FMIJHS606U?
(A) FTEBHRWTSHET (B) elwmpsyL GUIFa:
(©) UbsmeLd GEFMLPF&H6IT (D) UmeooT I WIT& 6T
29. Which of the following is not a measure taken by E.V.R. to eradicate untouchability?
(A) Temple entry
(B) Admission of Hariyans to priesthood
(C) Communal Representation for adminission in educational institutions
(D) None of these
L9 63T6) (IH 61 60T 61 60T6U M) M) 61T 55 600T L_TEMLO6M LI ePINILSMHS .G 6. ITEUIT6V
GLMAGTETATLILILIMTS (PWMHE e181?
(A) abevw Biemipey
(B) a6 1086856067 ATFFHTTES | DILNE) 5560
(C) mevall Blmiauarmigetleh euG L] LITH HISH SS16u5mS IG5 560
(D) @eaummlev ergia]l6vemev
30. Whois called “Lion of South India”?
(A) T. Prakasam (B) Muthramalingam
(C) Vijayaraghavachariar (D) Dheeran Chinnamalai
" QB eTeof I HH WIMell6iT FIMBIGHID” 6TeoT D emLp&G&LILIBILIGIT WITH?
(A)T. Ygsmad (B) wogs17minedmissLn
(C) elggwymseungsmflwmg (D) Ser F6tT60TLOEM6V
31. Chaturvedimangalam is a
(A) Subdivision of Chera empire (B) Subdivision of Chola empire
(C) Subdivision of Pandhya empire (D) Subdivision of Pallava kingdom
FSITCS LOMIGHEVLD 6T60TLIG)
(A) Gerl Gupr&er 2 L LNfley (B) Gampll Guyr®er o L Liifley
(C) umesoriguiLs GUITF& et 2 L L ifley (D) usvevar SiTF 6T 2 L L9fley
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“The learned make each land their own, in every city find a home;
Who, till they die; learn nought, along what weary ways they roam!”
Which popular saying is appropriate to the theme of this kural?
(A) It is better to get an education even if you have to beg for it
(B) Through seven worlds, bliss attains
(C) Artis long
(D) He who has an art has every where a part
" WITSTEILD [BITLITLOT6V 2ET[TITLOTEV 6T60T ) 60T IT(H 6L 60T
& ITIH &1 60)600T UMl &6V6VITSH 6UMmI”
@GN HHSCHTH QUMTHSSLOMET L&SPLO&HSHE FaMm 61517
(A) Neems R eIlD SMemss HeTGMm
(B) eTpemoU]Ld gLOMLIL] 2 60L& S
(C) meval emuilev
(D) 5MCMMI&HEGE QF6TM @) LGILN6V6VITID FIMLIL]

What is the objective of SUPRA Scheme?

(A) To fund exploration of new scientific and engineering breakthroughs with global impact

(B) To protect archaeological monuments

(C) To strengthen banks affected by Non-Performing Assets

(D) To harness rainwater and conserve ground water

"Fligm” (SUPRA) S LS5\ 6T GHIT&H&LD 6T60T60T?

(A) 2evsamailll  STHESESSHILET LUHW  gfledwey wommin eurpuiwey  Ssemm
ST LI &H 6B &G BIH WS Q&

(B) Q& mLQLIMHEIT [Bleveorey & eoTeoT BI&HemaTL LIMSEIS TS

(C) auMpM&aLeT&H6TTe LITH&SLILL L aIBISH&Hm6T sl &S

(D) wenpBeny CFLAGS LDMMID Blevs sl HenT LIMSIHTEHS

Who is first woman Director General of Police (DGP) in India?

(A) Kiran Bedi (B) Kanchan Chaudhary Bhattacharrya
(C) Letika Saran (D) R. Sreelekha

@BH WM (LNGH6V GILIEHIT &HITEUEVEHIMME &emevemnln @ UIsHEGerd (19.83]. L) wimg?
(A) ®yevor GLILg (B) ss@epg et Foysifl LILLTEFSFTIwIm
(C) vsH & Fyevor (D) R. wfGeuas T

When was the National Road Safety Week 2019 observed in India ?

(A) February 4 to February 10 (B) February 5 to February 11

(C) February 2 to February 8 (D) February 3 to February 9

CHHW Fmemell LIMSISGTLIL] QUMTLD 2019 6TLICLMSI@HH Wmallev &HemL L1988 U1LL L GI?
(A) ageurl 4 wwsev LLiFeurfl 10 auemy (B) Wldgeurfl 5 Wwsev LNLigeuif] 11 euemiy

(©) Vel 2 WWs6v LNLigeurf] 8 auemy (D) Wdgeurfl 3 Whs6v LNLigeurfl 9 auemiy
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36. Excise duty is

(A) Charged on goods imported into a country

(B) Levied when the moveable goods are sold or brought with in a Country

(C) Levied on goods produced within the country

(D) None of these

&H6VITev aUf] eTedT LIS

(A) @ BTLIAMEG6T @MéESGW0E QFWIWLILGLD QUL gerler gl
A &&LILMB ST

(B) B&@BLQUITIHLGHMET 6 BITLIYMEG6T alM&HCaUT 260V6V& aUMMHIGC6T
QEFWWDLCUTEH aH&&LILRSMS

(©) BILIYMG6T 2. MUSSH QFWWILGLL QUTHBL&EEHEG H&EsLILGG MmS!

(D) @eummlev eTgia]Ldlevemev

37. Which of the following tribes are found in Nicobar Islands?

(A) Agaria (B) Tikuna (C) Shompen (D) Yanomani
LNetTau@pLd 6TH S LIPmIGIQuilenT Bl&GHTUTT Se6 s e6rfley smevorliLI(H & eTmeor?
(A) sysmiflum (B) 9 &@&eorm (C) Gaq M@ LiedT (D) w@eorminent]

38. Match the following waterfalls with their located districts

(a) Salem 1. Siruvani

(b) Coimbatore 2. Kiliyur

(¢) Kanyakumari 3. Tirumurthy

(d) Tiruppur 4. Thirparappu

LN6tToUBLD 2[NS 66T {606l | eMLOMHSIETET LOTEL L I8 EHL 60T Q\LIMT[HS S5

(a) GZeuld 1. ® mieument

(b) GammwibLYSa 2. GeTerfluL i

(c) sereflwn@w 3. BG5S

(d) BeULT 4. @ourliy
@ @ © (@@

(A) 4 3 2 1

(B) 3 1 4 2

© 2 1 4 3

(D) 2 3 1 4

39. In India, which of the following have the highest share in the disbursement of credit to
agriculture and allied activities?
(A) Commercial Banks (B) Cooperative Banks
(C) Regional Rural Banks (D) Micro Finance Institutions
L edreu(meusoreumnilev gl @BEHWImeiley CouaTmeromremln LDMMID SIS 60T QS ML FL|6tL I
SIMMGEHEHE G &L60T QULNMHIGIT 6V H & LITGIG 60160TE 6 & T6euoTLSi?
(A) 6uetnfl& eumBISG &6t (B) sa_(hme)y aumbIs &eT
(C) aULLITY 26178 61 I &6iT (D) GMIMIgL60T QULDMBIGLD Bl M6 60T 6l & 6T
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40. Ifx = 1 +vZ, find (x - i)z

41.

42.

43-

(A) 4 (B) 2 ©o (D)6
2
X =1+V2, eTevflév (x — i) @) 60T OB IMLIE & TEToTE

(A) 4 (B) 2 (©)o (D)6

A person saved money every year, half as much as he could in the previous year. If he had
totally saved X 7875 in 6 years then how much did he save in the first year?

(A)X 5000 (B) X 6000 (C)X 5500 (D)X 4000

@0 BUT Q6aIQ6UTH (Gl ASHGSG WHmsW peor®h CFlsSs Qsmamnsuiley
uUmr@enwd CFlE&ERMTT. 6 eor(h&Heflev ojeurm X 7875 -0& CFI&EHMITIT 6revflev, (NG
2L600TI9.60 6UT CFLASSH QS Te0 S 6T6)EU6TE?

(A)X 5000 (B)X 6000 (C)X 5500 (D)X 4000

Choose the correct statement

1. The Constitution does not specify any castes or tribes as the SCs or STs.

2. The lists of SCs and STs vary from state to state

3. Any inclusion or exclusion of any caste or tribe can be done only by the President.

4. The constitution has used the expression “Weaker sections” in Article 47.

(A)1,2and 3 (B)1and 4 (C)1and 2 (D)1,2and 4

gflwumer gaHenms CHIHEO S0

1. ahsQanm GOUUNLL FmdH oeeusa LUpkiGQuiearamy SC g ST &&Herns
A wevenoliL] GmILILNLallevenev.

2. SC wmmib ST &aerfledr LILIqUIeVmeTsl DM Blev&H MG LOMBlevld ImmILI(HILD

3. gatmHUSHWTe WLEBGCL hHEaTm FTHUNeT SjeVeVgl LILPMHIGIQ U eTemnTuLh
UL Iguwedlev CEFIHHEGAIT 36vevg allevdsCau (LNLgU]LD.

4. rAwevennlilier 47618 @qI&5H60 “HedleuemLbs Lliflalleri” eTedTm LISGLOMETSI
LweTUB SSLILIL(H6Tergl.

(A) 1,2 0OmILD 3 (B) 1 opmitd 4 (C) 1 O 2 (D) 1, 2 O 4

The curved surface area of a right circular cylinder of height 14 cm is 88 c¢cm2. Find the
diameter of the cylinder.

(A) 4 cm (B) 2 cm (C)7cm (D)1cm

88 FQ&IS. auemeTUTLILeMLW 6@ GBHIall L 2 (BeneTuilleT 2 WFh 14 Q&F.LS. erefley,
2 _memeruflest el LD &Tevorss.

(A) 4 Q&.18. (B) 2 Q&.LS. (C) 7 Q&.L8. (D)1 Q&.LS5.
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44. Dilip Singh Bhuria Commission is related

45-

46.

(A) to report on the administration of scheduled areas and welfare of scheduled Tribes

(B) to report on condition of Muslims

(C) to report on the creamy layer in OBCs

(D) to investigate the conditions of OBCs

F6eSU1 il LI WIT G W 6THEIL 60T QG ITLTL|6mLWISI?

(A) uligwev UGHGeTeT BlFumsd WLMHMIND LPKEIGIQUIeariler Beualmpe| G&GMiSa
MG & e6fles

(B) woeiveSinsserfletr mlemev GMIS S infldemn s 6rflés

© @sr MnuGssliul L aglitlearisefley AifIdCeowl GMIS S Sinl&Heamns 3j6fles

(D) @57 U@ sSsLIULL auGLierigserfler Blenevemul QLmul

Choose the correct statement about Cigarette and Other Tobacco Products Act (COTPA),

2003

1. National Tobacco Control Programme was introduced to ensure effective
implementation of the provisions under COTPA, 2003

2. It prohibits the advertisement and regulate the trade, commerce, production, supply and
distribution of tobacco products.

3. Punjab is the first State in India to collect maximum fine amount from the violators of
this act.

(A) 1 only (B)1and 3

(C)1and 2 (D) All the above

FHQUL WOHmID @&T Lensulenew QUL &eT ShHLLE L1 (COTPA), 2003 Limmlwl

Flwmer samenms CHIHOS0

1. COTPA, 2003 @er S alFsmer HobUL QFWLBHSIIUSHETE CHFW
Henssulemnen L GIUUTLG S LD Qameoor(heurLiuLl L gl

2. @& UemswWlemey QUTBLSET elembUTLILGSSImMS SO QFUI6ISIL 6T,
Saumiiledr  aleollsd, 2 MUSH), QPBIGSO WwOMHMID UHFe wHweimhenm
RUEGUOS3H DI

3. @bsF FLLSMS WnlwealiseflLllGhs UTTHD @G QFUWEH (&6
LDMBleVDTS LIGHFTL HHHLHMS

(A)1 (b (B) 1 ommiib 3

(O 1mmib 2 (D) GoM&600TL. 2|6M60TSH SILN

National Girl Child Day is observed on

(A) March 8 (B) November 26 (C) January 24 (D) March 25
GHH W QILICTIT GHLLHEN&HSH6T HeuTId 6THS HTeflel AHeuFflEsLILGSRMSI?

(A) ormyE 8 (B) meulbLIy 26 (C) 26teuifl 24 (D) & 25
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Which article under the Constitution of India ensures compassion for living creatures?

(A) Article 48 (B) Article 48A

(C) Article 51 A(g) (D) Article 51 A(h)

emers g 2 WlflermseflL@pld UMMSNILET BLbBS Q&TeTalens 2 MISHGFUILWD
TR WevenlnILN6T U5 S 6T1SI1?

(A) 57551 48 (B) #78681 48A
(O) #1581 51 A(g) (D) #1851 51 A(h)
Match the following
(a) Pencillin antibotic 1. Polio
(b) Streptomycin antibotic 2. Tetanus, Diphtheria
(¢) BCG vaccine 3. Plague
(d) Salk’s vaccine 4. Tuberculosis
QUM S &
(a) QuelFIeder erH T 2 UNTEHQ STV 1. GumedGwirT
(b) e QuUuGLmen&6r eTH T 2 U F&HQ & mevedl 2. QLL Leoren, QLIS flwim
(¢) BCG smIue 3. YGers
(d) FmeLs HHLILLES 4. &MEFEQBITUI
@ @ ©© @@
(A) 2 3 1 4
(B) 2 4 1 3
© 2 3 4 1
(D) 4 2 3 1

The Election Commission coordinates with which Ministry for conducting the elections?
(A) Home Ministry

(B) Ministry of Law and Justice

(C) Ministry of Finance

(D) Ministry of Social Justice and Empowerment

6TH S I MNFFGHSHSIL 60T 62(HBEIT 60600TH S CHTH6V 2,60600TUILD CHTHM6V BHLSSIHMSI?
(A) 2_6TaHINHM MDFFSHLD

(B) LL1b nmmIh BHSHHNM SeNDFFSLD

(C) p® sjemwngssDd

(D) sewps B8 WMHMID HH&TTLN6TISE5600 eGS0

Which of the following compound is used to produce smoke screen?

(A) PCl, (B) HPO, (C) PH3 (D) P04
G LD G 600TL_ UM MIET L|60)&H ST emTenll 2 600TLME&L1 LIWeTL(OILWD CEFFLOLD 6T&17?
(A) PCl, (B) HPO, (C) PH3 (D) P.O4
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Which of the following commissions made recommendations about the Centre-State
relations?

1. Sarkaria Commission 2. Punchhi Commission

3. M.N. Venkatachaliah Commission

(A)1,2and 3 (B)i1and 2 (C)1and3 (D)2 and 3
LYesTreu@meusoraummley 61HS585 GWHSEH6T WESEHUW-I0MBleV 2 meyser Umml Lflbaenrsser
Q&F UG 60T?

1. FussTlum Gw 2. L|60TH & W
3. M.N Qeum& L M&FM6UWIT @& (WD
(A) 1, 2 DODYILD 3 (B) 1 opayid 2 (C) 1 wpauid 3 (D) 2 ooyt 3

Choose the correct statements about Cavalry of Shivaji

1. Sari Naubat was the Supreme Commander of Cavalry

2. The Cavalry was divided into bargirs and the shiledars

3. The Bargirs was mercenary horsemen who had to find their own horses

4. The shiledars were soliders whose horses were given by the state

(A)1,2and 3 (B)1and 2 (C)3and 4 (D)1,3and 4

GLpaevorL_eummieT Flaumgdlulledr GHenrLliLemL UMM FFlumer gammisemnens CHFHES M

1. &l QBeTUS G eMTLILmLWI6T S56m6V6MInG SH6TLISH LT

2. GHTLILML LUTRIS6T LDMMID 606aqCeV&ITIS6T eTedTml @ mevor a1 LNfléasliul L gl

3. ZMRIGMTHEGC GHmrsemer gHUTh QFUIS FueldhE Coalemev QFUWIW LD efFFsseT
LTS TS6T 6T60TMI {6008 &1L L 60T

4. TG CPOVITHE GHMIHET QIPBIGLILLL UL efJiseT emeaqCGeusmiseT ereormi
S6MLPGH G LILILL6OTIT

(A) 1,2 0OmILD 3 (B) 1 opmitd 2 (C) 3 OoiLd 4 (D) 1, 3 bHmID 4

Choose the correct statement
1. The first forest Act of India was Indian Forest Act of 1878

2. This act claimed that original ownership of forests was with the state

(A) 1 only (B) 2 only
(C)Both1and 2 (D) None of these
Filwmer samHenms CHIHESH

1. 1878 9LlD 2L600TIQ60T @HFUI CUETHIGHET FLL LD @BHEHWITeNeT (NFHVTaIS QUETEFL L LD
AGD

2. @bS FLLEH T LY aleTmigefler 2 flenn HFHLLID @hHSS!

(A)1 (b (B) 2 nL_(p\b

(©) 1 LHmid 2 (D) @eummlev 61686066V
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54. Who died in the jail after 64 days of hunger strike against the discriminatory practices and

55-

56.

S57-

poor condition in jail?

(A) Sachin Sanyal (B) Jatindra Nath Das

(C) Pritilata Waddedar (D) Pulin Das

FlemuiledT GOMEFLOMET [BleVEMLDGHET, LIMTLLFLIOMET HLEUI&HMEHT G IeIMenMm
THTHEH 2 evomeooTmellsld CLMOS&TT(H 64 BTL&HERHGL eteory FemnmuiGeuGul
LOTJ600TLD D 6D)L_[H&H U WITIJ?

(A) F5F 60T FeOTUITEV (B) 28 B9 THMS &Menv

©) WA LgeuL T uBH BT (D) yededr ey

Whose government in Tamil Nadu before independence, offered free education, books and
mid-day meals for the adi dravidar children?

(A) Panagal Raja (B) P. Subbarayan

(C) B. Munuswamy Naidu (D) Ramakrishna Ranga Rao

&FSHHTSH MG W6, HLLNESS 6L WMHenL W L Flulleh 218 BrmeilL GLobHen S8 Ehs:E
@evealFs HeVall, LSS &BIGET LDMMID DU 2 60076 QULPMHISLILIL L SI?

(A) ueoTsB6L TR (B) P. ssLymulesr

(O) B. wsaeumidl By (D) pmn&\ (H619.600T [JFIBISSIT [TT6)

Which of the following tamil quote is placed at the entrance of the United Nations Assembly?
(A) Truth alone Triumphs

(B) One God, One humanity

(C) To us all towns are one, all men our kin

(D) Intend to do right deeds

Netraumeausraimmilel B&@R W BTH&6T Fenll Blenpe| eurmuiedlev @LbQUMMIeTT HLAlLD
QUMEFSHLD 6TSI?

(A) aumilemn Gl GleU6LEYILD

(B) e60T@M &6vLD 6p(H6UGET GG 61 60T

(C) wmsilh 2a1@ry WimeU LD G&Herfly

(D) 9imib Qew efl@pLoL]

“That what they wish may, as they wish, be won,

By men on earth are works of painful 'penance' done”

“Penance’ the great deed to be done at which place told by Valluvar?

(A) In the heaven (B) In the worldy life

(C) In the rocks and forests (D) In loneliness

"G6U600TLq U1 GEU6DOTIQ WK Q& UISH6VIT6V Q&FUISaILN

FFeoor(h (LWI6LLT LI(HLD”

" HaULD" 6T6dTM GILIHEHQ & WLIm6 eTalL_SH L QFUIWLE FaMIBMTT aU6TEH6IT?
(A) QEMI&sH55 60 (B) @e6uayevs aurpeiley

(C) &M &6T InHMILD Den6VSs6rley (D) sevfleminuilev
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Choose the incorrect pair

Author Book

(A) Cheraman Peruman Nayanar - Gnanavula

(B) Thola Mozhi Thevar - Soolamani

(C) Perunthevanar - Bhartha Venba
(D) Thirumangai Alvar - Thiruppavai
SEUDTET G e6euuTenlsh CHTHOSMH!

Breom&A flwry BIT6L

(A) G&rLOMesT QLIIHLOITET [HITWIEOTTI - @BIT6OTE6VIT

(B) Gxmeum QomblsGs el - @ 6TITLD 6001 ]
(C) QUEBHCHEIETIT - UMT& Q6uevorLIm
(D) ®(®LomBen&WITLDaITT - S LILITen6

Which of the following describes the strength of Pallava’s army?

(A) Kuram plates (B) Vellore plates

(C) Kasakudi plates (D)Aand B

LY edTeupeusoreummlev Lisveveuifledr Lieml euedlemnenil LIMMl& Go miel gl 6T51?
(A) s L LWILD (B) Geusumy LIL_L_WlLh

(O) snes@ Q. UL Lullb (D) A bmmiib B

The GRAPES — 3 muon telescope is located at

(A) Ladakh (B) Shimla (C) Ooty (D) Darjeeling
S CrLe-3 WIW W TET Q& TeneVCHTHESE 6THIEG 3|6MLDIHS6TeTS?
(A) euL1T5 (B) A\heurr (C) oeri1q (D) Lmygledimi

In which year was Income Tax Act was enacted?

(A) 1960 (B) 1961 (C) 1962 (D) 1963
au@LomeT aliflgF FLULLD 6THS 2,600T(H @WIMMLILIL L SI?
(A) 1960 (B) 1961 (C) 1962 (D) 1963

Which Ministry is calculating Gross Domestic Product in India?

(A) Ministry of Finance

(B) Ministry of Commerce and Industry

(C) Ministry of Statistics and Programme Implementation

(D) Ministry of Consumer Affairs

@BHWTelley QLTSS 2 6THITL(H 2 MUSH MU 6THS HMNEFFSHLD &600TEH H/HMSI?
(A) PIS SjemWFFSLID

(B) auis5610 InMHMID QS TLHELSHINM HMDFFSHLID

(C) yeiteflafleuy LHMID S L SID6VMTESHSHMM SeMNDFFSLD

(D) mIsIGeumy afleuss My SenNFFEHLD
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Who headed the committee formed by National Development Council to examine population
explosion in 1992?

(A) K. Karunakaran (B) Radha Kamal Mukerjee

(C) Joseph Bhore (D) Lakdawala

199210 S4,600TIq 60 CHAW aUeTTFR G & (NDC) & &6T QHTend QeI GMlS S b mul
MGG & W6 &emeuallT WITH?

(A) G&. & (H6voTTS: 60T (B) prsm &nev hareldl

(C) GmmaLl QU (D) svssmaumeurr

Which organization prepares the estimates on physical capital formation?

(A) Central Statistical Organization (B) Census Department

(C) Planning Commission (D) Finance Commission

LBLIQUITHET eLnev&HeoTsemnd LFLILT(H Q&F WD emDLIL] 6TS?

(A) &I W LeTerfluiwiev BlmieuesTid (B) D&&6TQH T &HE &600TH6&5HILILIS Slemm
O BLLEEW (D) n®&EEw

Which is the world’s largest and fastest growing delta?

(A) Kaveri Delta (B) Sundarban Delta

(C) Mahanadi Delta (D) Indus Delta

2 euEer WsLIQUFIW LHMILD CeUSsLOTE UETTHEnIq Ul QL VLT 6T&I?
(A) smGeurfl @LsvLIT (B) sxlbsT6u6nT QLGVLIT
(C) beMBEH QLT (D) ®\ba QLevLT

The simple interest on a certain sum of money for 2Y2 years at 12% per annum is %40 less
than the simple interest on the same sum for 3%/2 years at 10% per annum. Find the sum.
(A)X 600 (B) X 800 (C)x 1000 (D)X 1200

R FToHWTarg Heoflaullquiey 22 georB&erfley 12% el 9eSRFEH0 WH5H
QFWWWD CUTE HLEHGD all 196G CH QST WTrg 32 gy eo®&efled 10%
QL9 NSRFEH 6 WHSH GFUILWD CUTEH ReMLHGLD eIl 198G 2 6Tem Caumum@® 40
6T60f16L DS GG TED)GEMLI &5 ITEU0T .

(A)X 600 (B)X 800 (C)X 1000 (D)X 1200

In an A.P., sum of four consecutive terms is 28 and their sum of their squares is 276. Find the
four numbers.

(A)1,3,5,7 (B)1,5,7,13 (©)1,5,9,13 (D) 2,3,5,7

20 Fnl s QsTLiauflanFuley 9HS55HSHS BTG 2 MLl &6 ler gn(h &6 28 Inmmilh
UMM 6UITE&HMBIGHET 6T Fa(hFH6V 276. HS [HTEOTE 6T600TS6M6TE: 55T600TS.

(A)1,3,5,7 (B)1,5,7,13 (©)1,5,9,13 (D) 2,3,5,7
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Choose the correct statement regarding the scheme for free distribution of milchcows and
goats
1. Launched in the year 2011 — 12
2. The beneficiaries under the scheme should be women
3. Atleast 50% of beneficiaries should necessarily belong to SC/ST community
(A) 1 only (B)1and 3
(G 1and2 (D) All the above
aflemevuileveur Bmemalll L&GFES6T MmN QeleTemmh&H6T aIPBIGIL S LD LMl
gflwner gapHenws CHIHAS0H
1. 2011 — 12 QLD 3L6E00TI60 QSTLMBIGLILLL S
2. QUeITHGHT @&HT L SH 6T GLD LiWleoTmerfl&enmss @ @maHas (L.
3. uwermefl®sefley GoWBHSULFWD 50 FoaissFHery SC/ST  Fepssansdd
CFIBSHAUTHETTEH @) (HdH Galevor(h L
(A) 1 DL (D (B) 1 ommilb 3
(O 1mmid 2 (D) Gomas6voTL 2|60 60TS SILD

Which article is first time invoked by the Supreme Court in Ayodhya Judgment?

(A) Article 142 (B) Article 140

(C) Article 137 (D) Article 143

S FISHME WSHOTINSl6L LWeaTURSSH JCWnsSH Sillemu 2 FFBHnermid
QUG WIGI?

(A) 0581 142 (B) #1531 140

(C) #rg81 137 (D) #7681 143

Choose the correct statement about Inequality - adjusted HDI (IHDI) 2019

1. It adjusts the HDI for inequality in distribution of all three dimensions

2. InIHDI, India’s position increased by one position to 128

3. IfIHDI is less than HDI, it means there is inequality

(A) 1 only (B) 2 only

(C)1and 3 (D) All the above

Fugsadearenny Fflagwwliu’L HDI (IHDI) 2019 umlw Fiflwmer Smmenms

CaIBESMH

1. @& eperm  uflinmeormigeflear  aNBICWTHSEHO gmmeEETDa GG Ter  HDI-o
FHlQFWSH M.
ITHDI uflev, @bHwimeller mlemev spetTml 2FH &1f155 128 918 2 6TaTs
IHDI <yeorgzr HDI-3 ol @emmeunmsd @hSTe, Fnggalldlearenn @ mLLUSTS
SITSHSLD.

(A) 1wl (B) 2 @D

(C) 1 bpmilh 3 (D) GLoM&600TL 260)60T& SILD
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Which of the following state receives rainfall due to western disturbance?

(A) Kerala (B) Punjab (C) Tamil Nadu (D) Assam
LedTeu(pLD 6TTHS LOMBlevd GLM&SH W @) 60l W, MIG6 60T Tel emp QLIMIGMSI?
(A) Gsyerm (B) u@pamLl (©) sWLLBTH (D) ®erverumin

Choose the incorrect statement regarding Pamba — Achankovil - Vaippar River Link Project
(A) Enhances water and food security in India

(B) Facilitating the generation of hydroelectricity

(C) It will increase persistent floods in some parts of Tamil Nadu

(D) The amount required for this project is so huge

UWUT - FFearCasmailey - emeuliLmm BHHT @emevorliL] S LD Q&TLITLITET &6UmTest
GG CHIHES0

(A) @bpHwmeller B LDMHMID 2 eoTe] LIMSISTLIemU CLbUBSSIHMS!

(B) By Weremnygens 2 (GaursEGasnHE& 2 SaSna!

(C) @& sWAPBTLIQ6T Flev LGH &6 QST QEl6TeT QLIHEHMSH LSS0

(D) @58 Ls5msns el Quiflu Qsmand CHemnalliLiGSHma!

Choose the correct statement regarding Dr. Dharmambal

1. She had great interest in the development of tamil literature and tamil music.

2. In 1940, she agitated against due recognition of tamil teachers in the name of Elavu
varam

3. She gave the title of "Ealisai Mannar" to Thiru. V. Kalyana Sundaranar

(A) 1 only (B)1and 2

(C)1and 3 (D) All the above

LT&LT. SFWMDUTET Qg TLFUTer FflulmeT gamenms CHTHES M

1. sl @evsR Wb mHmid Sl Geanguller alemfERUlh 9jalHsHEESG WIGHS LT6l0D
QGBS

2. 1940 9ylb sevor(h LA, A Flwisemner Fiflwmer wWenmuiley ABIBE&HFEHHTHNS
THTHH @6 QUMD 6TedTm CLIMTTMTLL SH6MmG Q&ML MBS 6TTT

3. . . HELWITEOT &FHSHTOTT(HEHE "JU6NE LDGTETH" 6T60TM LIL L &6M& QULDMHIG 60T T

(A)1 (b (B) 1 ommiib 2

(C)1wmmib 3 (D) GLoM&600TL. 2|6M60TSH SILD

Which of the following bacteria in human intestine help in synthesizing Vitamin K and
Vitamin B?

(A) Lactobacillus (B) E. coli

(C) Pseudomonas (D) Bifidobacterium

nefls &Le%6L aumWLd SLseooTL 6Thg Lmsieflwin emell L idledr K wmmilb emeut L Ldleor
B-2 2 muUSH QFllaHe 2 FHa|Hmai?

(A) uTECLITCLT 6L6VEN (B) er. GsmemIEL

(C) @&GLMTGLOMTeoT TN (D) emuNGLmuUmSIeflwiLd
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MOCK TEST- 3

Who among the following was awarded Nobel Prize for determining the role of chromosomes

in heredity?
(A) Watson, Crick (B) Melvin Calvin
(C) T.H. Morgan (D)Band C

G LD G IT600T LI 6 [T 55 15 61T orilwedey  GCrmGLMTEsFm&Gefledr  LUBIGemer LMW
&HeooT(H LN LI M & meor GBITLIEL Lflend QuUMmeuy wimy?

(A) eurr_getr, B ifl & (B) Qevaledr Gasevel6or

(C) T.H. Guomiseor (D) B iomoiih C

Choose the correct statement regarding the Fundamental Rights provided in the

Indian Constitution

1. Fundamental Rights are not absolute in nature.

2. All the Rights under Article 14, 16 and 21 are enjoyed by the foreign citizens also.

(A) 1 only (B) 2 only

(C) Both1and 2 (D) None of these

@QBHW SrFwevemliier sglitemL 2 flemwser UMMl Flumer  Samhenms
CaIBHES0

1. 9qliLemL 2 flemlngeT (LDLDEMLOWITET SH60TemLn 2 60 L ULI60T 2|6V6V

2. AQIHHIGHET 14, 16 IDMHMILD 21-60T HLD 2 6iTem 2_fleming 6T QauefIBTL L al(H& &L 2 600T(h)
(A)1 (b (B) 2 b\

(O 1mmib 2 (D) @eummlev gaiLbléueme

Choose the correct statements regarding the Joint sitting of the Parliament
1. The joint sitting is governed by the Rules of Procedure of Lok Sabha and not of the
Rajya Sabha.
2. Provision of joint sitting is applicable to ordinary bills or financial bills only and not to
money bills or constitutional amendment bills.
3. The Speaker of Lok Sabha presides over a joint sitting of the two houses and the
chairman of Rajya Sabha, in his absence.
(A)1and 2 (B)1and 3 (C)2and 3 (D)1,2and 3
LTI TEBLO6T &SR 60T ol (& Fnl LD LMW FHlWTeT domm&Hemners CHIHAS M
1. Bl (h& Gl LBIG6T InGsaTaneluller Henl (pemm el sefler Lilg BlFeu&&sLLGGID
6T LOMBleVMEISETen 6 HenL (Nemm & &6TTel 9606V
2. Fal (D& Snl LBIGET FMSTJeO FLL (PETeUemT6a 6vevd BIF (Weteusmgellm&
DLLGHCL QUTIHHSID. LIGTT (LNETaIenTa| 3Vvd STFamlil] H;BEsE FLL (peT
auemIelmE& QUTBHSTS
3. @M ausafler Tl & Sl LEFHMEG D&HE6Temal FUTBTULSIHL, el @)6VeuTs
&IT6LMHIG 66V LDMBleVMHIGETem 6l W6 5606V HLD HEM6eVEmLD MM FL & SI6U T
(A) 1 bOmILD 2 (B) 1 bpmib 3 (C) 2 OoILd 3 (D) 1,2 Hmib 3
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MOCK TEST- 3

The volume of a solid hemisphere is 1152 © cu.cm. Find its curved surface area

(A) 288= cm?2 (B) 1447 cm?2 (C) 72m cm?2 (D) 576m cmz2

R MIECEHTATSSH 60T H60T 3|66 1152 T &.Q\&F.L5. 6Te0 16V, 3(560T eUemeTLITLIL| &5 TE0oTS.
(A) 288n QF.152 (B) 1447 Q&.152 (C) 72n Q&.152 (D) 576n Q&.152

Choose the correct statement about socio-economic life during Chola period

1. The practice of “sati” was prevalent among the royal families

2. The devadasi system attached to temples emerged during this period

3. Both Saivism and Vaishnavism continued to flourish during this period

(A) 1 only (B)1and 2

(C) 3 only (D) All the above

GFMOT HTVET6L FeNGH-QUITIHETTSTT aUMTLES LM FiflWmeT samenms CHIH6 S0

1. 9rF GOLUSSTHLCU "FH" eTeoTm 2 L 60TeL6mL GUIMILD QUGS @ BHS S

2. CoaMWILsEHL6T LlemerésLiLILIqBhES CHUSTH pemm GFTLT &TeVEH 605 meor
G et eUeTHSH S

3. @&SHTVEHTH ) MEUETT(IOLD, MEFQILD G605 55 60T

(A) 1 LD (B) 1 npmild 2

(C) 3 L (b (D) Gom&s6v0TL. |6M60TS SILD

Who ruled India during Chenghiz Khan’s invasion?

(A) Balban (B) Firoz Shah Tughluq

(C) Muhammed bin Tughluq (D) Htutmish

QEFmIH & Meofletr Lien) L QuIBLILNeT CLIME @B WImenel ol F QEFuISeIF WTF?
(A) umevLiesT (B) LNCymeq e IT Si86T8

(C) wrasLg et gis6T8 (D) @evaidleq

Assertion (A) : The congress ministries resigned in 1939

Reason (R) : The colonical government of India entered the second world war without
consulting the elected congress ministries

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Famml (A) ! MRS SMDFFT6UEET 1039-940 600T(H LG allev & eor

&rgeoord (R) : CaIHOSH&HLILILL SMHIKH T 3enNE&FFTen6ldHemeT oLCMHF & 8MIN6
@B WMTeller smevent] 95 &H& T8 @ IetorLITD 2 6v8L1 GUIMfleL
LIBIG&HMMSI

(A) (A) wmoib (R) &1, (R) - ayeoral (A)-eor siflwimet elleng Lo

(B) (A) wnmoiib (R) &1, (R) - apeoral (A)-eor Frflwiment ellemdosn 3j6vev

(© (A) #1fl epermev (R) Seugy

(D) (A) mougy syeormev (R) &1
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Who wrote the book “V.0.C. Charitram”?

(A) V.V. Subramania Iyer (B) Parali Su Nellaiyappar
(C) M. Mehta (D) None of these
‘al.2_. § FlGH TN’ eTeTm LSS HE5ME 6T(REIeUT Wmy?
(A) V.V. sligneooflw sguwiry (B) upedl & QpevemeuuILILIT
(CO) M. Cungsm (D) GumssevorL eTeuLAl6LIT
Match the following
Artists Drama
(a) Komal Swaminathan 1. Thanneer Thanneer
(b) Mu. Varatharasanar 2. Chandhrodhayam
(¢) M. Karunanidhi 3. Thooku Medai
(d) Arignar Anna 4. Doctor Alli
QUM S &
8560)6V (6B [J 86T [BITL 85 MhI86T
(a) G&IMDEY FreumLAlBITS 60T 1. 5560076001 [J & 600T 6001 [
(b) Ww. upsTTFeTTT 2. FHHCIMSUWILD
() wWw. &@evoTMHISH 3. 165G Gl
(d) @iMlEepT <jevoTe00T T 4. LT&LT 3j6ved
@ Ok ©© @
A) 1 2 3 4
(B) 1 4 3 2
©) 4 1 2 3
(D) 4 1 3 2

Whose friendship is considered as an example of the following Thirukkural?
“Friendship from ruin saves, in way of virtue keeps;

In troublous time, it weeps with him who weeps”

(A) Paari, Kabilar

(B) Adhiyaman, Avvaiyar

(C) Kopperuncholan, Pisiranthaiyar

(D) None of the above

WITHEnLLI BL L] BL&H0TL. HBHHGSMEH5 G THHSHHHTLLTE HHLHRMS?
‘gidlel eotemel HEHGH 2, mIUIS S L0 6 6oT8s 60T

S|6V6V6V 2 _LPLILIGITLD HLL]"

(A) ur, s Nev

(B) 9IS\ WILDIT6DT, 6R6Imem 6 WITIT

(C) GamUIQUmHEHCEF M6, LIATTH6em S WITF

(D) GumssevorL eTau B LAleV T
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

In Rameshvaram, a pillar of victory was built by

(A) Amogavarsha (B) Krishna-III

(C) Govinda-II (D) Krishna-I
@UmGmevalTsSHev 56T Qeumnulledr &FleiTeoTOMS: 6(H STetI600T Bl M6l F
(A) SiGTEHaITaq [ (B) eLpedTmmid )b 6xq.600T 7

(C) @uevorLmid G&:mallbS T (D) s 6vImd &) (H61q.600T [

“Before the tongue lie powerless, 'mid the gasp of gurgling breath,

Arouse thyself, and do good deeds beyond the power of death”.

According to Valluvar, the high attribute / action that people must adhere to is
(A) The world is unstable

(B) The love of the soul to the body is like a bird

(C) Let virtuous deeds be done quickly

(D) Death is like sleep

"BIFQF MM 6318 @6TGLO) GUITTMLNEIT [H6V6 60)60T

CUMAFeTM QFWIWL LI(LD”

QUETEBAUT S MILD OMHST HemL 11919858 Ceueuoriqul 2 U LIevoTL]/ Q& eV
(A) 2_6u5LD BlemevWIHMS!

(B) umemeu GumeuGeu 2 L IbL|L6dT 2 U Q&smevorL HL_L]

(C) mHQ&swWevsemeT llemIHal QFUWIFHL 6V Celevor(HlLd

(D) 2. mmi@e6aug GUITeT M LOIJ60oTLD

“Know India Program” is related to which of the following Ministry?

(A) Ministry of Home Affairs

(B) Ministry of External Affairs

(C) Ministry of Human Resource Development

(D) Ministry of Tourism

" @BBWmenel MIGaIMD S L LD LNeTeu(BLDd 6THS HeMNFFHSESIL 60T QSTLTL|emL W GI?
(A) 2_a1816mM MDFFSHLID

(B) Qeauefliymegsiemm emng&sn

(C) wedfizaiaT GUWUTL () eMNFFHLID

(D) &zmmieuim 9emNEFFSHLD

If the demand is high for a product and supply is low, the price of products increases, this
situation is known as

(A) Demand pull inflation (B) Cost push inflation

(C) Disinflation (D) Stagflation

IjeflliL Gemmalns 2 6Tem Bleneuuileh QUIMTIHL&HEHEHETET CFHemeal T &FHEGID QUITLDS
allemevalTd 2 WHHMS. @HS Blemev eTalalTM HeMP&ESELILIGER mSI?

(A) Cxemeu @LIL| LieooTafg &0 (B) QFeve) 2_bal Lieoralssh

(C) BSeT LetoTaTSSH LD (D) Gz&5:6T651D
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Arrange the following passes from East to West

1. Banihal 2. Zojila 3. Shipkila 4. Bolan
(A)2,3,4,1 (B)1,3,2,4 (©)3,2,1,4 (D) 4,1,2,3
L edTeu(HLD &5600TeUTUI&Hem6T BLP&EH N BHE CLMETS alflenFliL(h &S S5

1. umesflammev 2. QFmgleum 3. LIS eur 4. GLIT6V 60T
A)2,3,4,1 (B)1,3,2,4 ©3,2,1,4 (D)4,1,2,3

Which of the following National Parks are located in the state of Uttarakhand?

1. Rajaji National Park 2. Jim Corbett National Park

3. Nanda Devi National Park 4. Govind Pashu Vihar National Park

(A) All the above (B)2,3and 4

(C)2and 3 (D)1,2and 3

FBLDEHHETL 6THS CHF W LLBIGHTHHET 255 JaHTe0orL L0MHleVEH6) 26mL0[HSI6T6Teor?
1. pramedl CHE W LLBIGIT 2. Glb HTFQUL CHH W LLBIST

3. BHST CHal CHHW LLBIGT 4. Coamalbs UMe asmy CHEW LLBIST

(A) GLOMEHE00TL 2160)60TS HILD (B) 2, 3 nmmilb 4

(C) 2 poid 3 (D) 1, 2 HmID 3

Where was “SLINEX — 2019”-a bilateral maritime exercise between India and Srilanka

conducted?
(A) Trincomalee (B) Hambantota
(C) Kochi (D) Visakhapatnam

@BSWIT LDMMID G evEiemns @) 6L CUIWmeT @S TLIL sUUmUeenL Gumy uuwilme “SLINEX
- 2019” 6THRIG HEOLOLIMMSI?

(A) S f1GsmevoT LD6M 6V (B) oMb GsTLemL

(©) asTEd (D) ellgmss LI 1q.60TLD

Match the following

(a) NH-27 1. Meghalaya - Mizoram

(b) NH-48 2. West Bengal - Chennai

(c) NH-6 3. Delhi - Chennai

(d) NH-16 4. Porbandar - Silchar

QUMTBHSS &

(a) NH-27 1. Gusmeow - WGFTILD

(b) NH-48 2. GIOM & QUMBISLD - G\&F 60T6D)60T

(c) NH-6 3. QL6V6Y - QT 6iTEmI 6T

(d) NH-16 4. GUMTTUBST — Flevamy
@ Mm @ @

(A) 4 2 1 3

(B) 3 2 1 4

© 2 1 4 3

(D) 4 3 1 2
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Which one of the following is not directly related to fiscal policy of the Government?

(A) Taxation (B) Government Expenditure

(C) Lending Rate (D) Budget

GECLp HMevoTLILI(BILD @) 6oThIGH6Tl6V 6THGE p6e0TmI ATHF 6T BIH & Q&MeTen&HCWITH GHITIQUITSH
QsMTLI6veuTH SI?

(A) aurfl &1L (B) 917585 Q& eveileor g6

(C) &L T 51D (D) augey-QFeveys HL_L LD

A square and an equilateral triangle have equal perimeter. If the diagonal of the
square is 12v/2 cm, then the area of equilateral triangle is

(A) 643 cm? (B) 602 cm?

(C) 50V5 cm?2 (D) 583 cm2

QR FSITWW, @M FLO LSS (PHCHTEIINL @G SFHMMETey Q&ML 6. FITs 5 6r
ey L LLh 12v2 Q& .LS. 6Teoflev FLOLIGS (L& G5 Te0oTd S 60T LIFLIL

(A) 643 Q&. 152 (B) 60V2 Q&.152

(C) 50V5 Q&.152 (D) 583 Q&.152

An inspector rejects 0.08% of a meter as defective. How many meters will he examine to
reject 2m of cloth ?

(A) 2,400 (B) 3,500 (C) 2,600 (D) 2,500

@ LU @b WSLLT Slevoflullev 0.08% GemmueTer Sieoofl eTeoT HHGH MM 6Tevflev 2
SCLT slevoflenwl B8&&USME& UIITETT 6716556060 LS LenT hUl6)] Q& uIw Gelevor(hLn?
(A) 2,400 (B) 3,500 (C) 2,600 (D) 2,500

Choose the correct statements about Nikshay Poshan Yojana

1. Itis a Direct Benefit Transfer scheme for nutritional support to Tuberculosis patients

2. Tamil Nadu is the first State to implement this scheme

3. The scheme is related to Ministry of Women and Child Development.

(A)1and 2 (B)2and 3

(G 1and 3 (D) All the above

Bl&Heng GUmager Guimegerm LiMmMw FflwmeT gamenms CHTHOSM0

1. @& &TECHTWTEfl&EERHE 261 L FF5 S QIPMBIGS alend QFUWIWLD GBI LILETIOmmHm
S_LLD.

2. @bBS HLLEMNS QFWLLGSH W (NG6L L0MBlevld SLELBTE L&D

3. @& QLEITSHET IDMHMID GLPHEMNSEHET CLMUTL () MINFFHSHSIL 0T QGTLITLI6mL I

HL_LIOMGLD.
(A) 1 npHoiLh 2 (B) 2 oHayid 3
(C)1wmmib 3 (D) GLom&s600TL. 2{6M60TSH SILD
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MOCK TEST- 3

97. Raman’s salary was decreased by 50% and subsequently increased by 50%. How much

98.

99.

100.

percent does he lose?

(A) 12 2% (B) 25% (C) 40% (D)371/2%

JLOET16T eUIBLOMETSH V) 50% GemmaaLILLG Lar 50% S sfleaasliuG@ma ereflsy
3|6ufl6dT QUIBLDITETLD 6Te)EU6TE)| F&HaTSHLID GHemnmuLn?

(A) 12 2% (B) 25% (C) 40% (D)371/2%

Who was the first Chief Minister of Tamil Nadu to hoist the national flag at Fort St George?

(A) Anna Durai (B) M.G. Ramachandran

(O) K. Karunanidhi (D) J. Jayalalitha

Leofls 2miey CaMenl_UWileh CHH WS Q& TIgemU MM NGV SO (LNGHEVEUT WITF?
(A) S|600T60OTIT SleDT (B) M.G. gmn&a B85 yeor

(O) K. s5pemormmIH) (D) J. oggwevedsm

In which year Anna Dravida Munnetra Kazhagam was renamed as All India Anna Dravida
Munnetra Kazhagam?

(A) 1972 (B) 1976 (C) 1981 (D) 1991

3jeooteooTm HFMaIL  (LPeTCTMME HPSHIOMETS BV @QBH W  evoreoorT Hmall
WPOTCETMHME SHLOGHLD 6TETM QLI LDTMHMLD QFWWLILIL L 24,600T(H 6T&I7?

(A) 1972 (B) 1976 (C) 1981 (D) 1991

Choose the correct statement about reservation of Anglo Indians in Legislature

1. President nominate two Anglo Indians to the Lok Sabha under Article 330

2. Governor nominate one Anglo Indian to the State Legislature under Article 333

3. Recently the 125 Constitution Amendment bill was passed in both the houses of
parliament which ends the nomination of Anglo Indians in Legislature

(A) 1 only (B) 2 only

(G 1and 3 (D) All the above

FLLOOTMSHO pBIRCVT @QBHHUTHEH&HSTET QL 36660 ummdlw  srflumer

GaDenms CHIHESMH

1. FU58 330 @6 LD KarTHUS & saTenaluiley @ revor(h RIS ECT @)HS WIFaHem6rT
BlWS &R oy

2. FU53 333 @6 B QEBHT MBIV FLULLICUTmaIUN6L @ BIHECT @\HSF Weny
BIWLO &Ry

3. FUSUSHO BTLIEBETMSHT @0 Iemaiseaflan mleomGaummliulL 12528
QIR Wevenlolll] HBHEHS (PT  aIedFalmeard FLLOEOTMSHO  mIS G
@QBHWISHET BlWEGESELILGEUS (D65 Q& TeoT(h 6ubS6TeTS!

(A)1 (b (B) 2 nL_ (b

(C)1wmmib 3 (D) GLom&s600TL. 2{6M60TSH SILD
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102.
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCKTEST- 3

Choose the incorrect statement regarding Tamil Nadu Chief Minister's Public Relief Fund

1. Contributions can be made by Cheque/Demand Draft from the business organizations
and not of individual.

2. All such contributions will be entitled to 75% income tax exemption under Income Tax
Act.

3. Itis maintained by Social Welfare Department

(A) 1 only (B)2and 3

(C©)1and3 (D) All the above

SO WNSH6VaUFeT QLTS BleUTIeoor HIH) Q&ML LITET &eUMmTeT SaMenms CHIH6S 0

1. &M8Fmemev / G&HLL eueTCaumemey CLNVD U6 &  [BIMIGUEITHRIGET SHHI&H6TS
LML &6emem aULpmhIss (DIQU|GLOW6TM &6ofl BLITE6T GULPMHIGS (LOLGUIMTSI.

2. SIMETHSE LIKIGETLILSGERHGWD au@mer alfle FLULgHer @6t SLb 75% 6u(HLomeoT
alfl e @ seflEsLIUGSHMS!.

3. @&l Fens s sienmuwlmey LITTFl&sLiUGSmS!

(A) 1 (D (B) 2 npmib 3
(C)1wmmib 3 (D) Gomas6toTL. 2{6M60T& SILD
Match the following
Components of a nuclear reactor Examples
(a) Moderator 1. Water
(b) Control rod 2. Heavy water
(c) Coolant 3. Cadmium
(d) Protection wall 4. Lead
QUMTBHSS &
3| V&5 ([H 2606V U 6T
LI Ml & 6T TS5 S&HHTL(H&H6T
(a) sevoflLILImedT 1. By
() sLG LU SSID &L 2. SeTiHI
(¢) ®eflgedliumest 3. &rldlwib
(d) sGUYE seuF 4. &mifwld
@ M @ @@
A) 1 3 2 4
(B) 1 2 3 4
© 2 3 1 4
(D) 1 4 2 3

Which of the following ore is concentrated by froth flotation process?

(A) Rutile (B) Chromite (C) Monazite (D) Galena

LI edTeu(HeueoTeUMMIET 6THS &M HlenT WISLIL wemmuilev LTLULNNGSELILGSHMSI?
(A) emLemL6v (B) ®GrmeninL_ (C) Gureorem &L (D) &6Seorm

Page 27

Kindly Send Me Your Key Answers to Our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

104. Choose the correct statement regarding the Estimates Committee
1. The Estimates committee has representation only from the Lok Sabha.
2. It examines the budget estimates before they have been voted by the Parliament.
(A) 1 only (B) 2 only
(C)Both1and 2 (D) None of these
LHEUFGHS Gw uHPlw FFlwTer &apemns CHIHAS0
1. LHUIT.(HS Gweld WaHE&ememal WL HICWL TS BIHSSI6D QLIMHMICTTS
2. @& UMITEBLETMSSTL UTEHS&HELILGWM WeaTCU BIHblemey WHLILTH &HemerT

S TTLUE DS
(A)1 (b (B) 2 nL_(p\d
(©) 1 HmIDd 2 (D) @eummlev gaiLllsvemev

105. Choose the correct statement about governance of Vijayanagara Kindgom

1. Each province was administered by a governor called Gauda

2. Mandalesvara, village headman looked after the affairs of the village

3. The army was modernised and they began using firearms

(A)1and 2 (B) 3 only

(C) 2 only (D) All the above

AgwrsTl CUITFH6T 9l F(wenm LUMHMW FFlwmeT gamenms CHFHASM

1. 6URGUM(H LDGTOTL GU(LOLD QI&ETLIT 6TETMEMLN&HSLILIL L SLEBHITE Bl &L L S

2. BIILL  QFTLIUTET  eleUHTHIGHENET  L0600TL CeUENVGITT  6T60TM6EMLN& & LILIL L
FTMTOG S 6M6V6U]T BITeUR ST

3. @Uremialld  HeSTWWTHSLILLL ST  IeUTHefler LeL&H6T QeI LmhHal
QLU MBIGHEM6TL LIWI6oTLI(H & &) 6ot

(A) 1 bMHmILD 2 (B) 3 (b

(C) 2 LB (D) Gm&600TL. 2|6m60TS SILD

106. 1. The establishment of Home Rule for India in British Empire
2. Arousing in the Indian masses a sense of pride for the motherland
Which movement has these twin objectives?
(A) Civil Disobedience Movement (B) Home Rule League
(C) Non-Cooperation Movement (D) Salt Satyagraha
1. flligeq ol Hlulev @S wmeley Serer Tl Flenwl gHLB S S
2. MWBTGH LMHMIW QLB 60T Temel @S W 0&S&6Tlen_Cu ghLB SSeus
@ 6emel 6THS QUIHEEH 60T @ TL6ML 8 & Ml&HCHT6TH6IT?
(A) gL oIl @u& s (B) settent L& @ui&H&1D
(C) essempUIMemLD @ UIGHELD (D) 2_liIhy&F 6 WMTHJsLID

107. In 1940, Kamaraj went to Wardha to meet

(A) Nehru (B) Gandhiji (C) Tilak (D) Jinnah
1940-1b oLe00T(H) SHTTTFT UTHST QF6TM WM FHHSHSHMF?
(A) GB® (B) &Sl (OFA[M:3)) (D) glesreorm
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109.

110.

111.

112,

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Which of the following is not a valid reason for the demand of statehood?

(A) Developmental deficit (B) Cultural identities

(C) Population explosion (D) Checking centralising tendency

L edTeuneusoreummilev eT&l &e6vfl IDMBlev C&HMIfl& 60858 @ &IfIWLIMTET SITI6I0TD |6V6V?

(A) euemI&s LMMTEEG M (B) &60Mm&F T 260)L_WIITEIT IS 6T

(C) D&&HETOHTNS GlaUlq.LlL] (D) emwWIL(M &SI CUMTHMSBS & &6V
Who was the Viceroy of India during Jallianwalla Bagh Massacre?

(A) Lord Reading (B) Lord Chelmsford

(C) Lord Hardinge (D) Lord Curzon

QmelWe aumeumuUms: LUGQsTanevuller CUME @hH UImaleT enelevmums: @) hHbH&eUT
wmg?

(A) figm gy (B) @FevCUTTL LNy

(O) ammiigm Ay (D) &gt L

In Sangam age, who were considered equal to the rain which protect the world?

(A) Elderly people (B) Brahmins

(C) Women of Chastity (D)Aand B

FHIG HTVSHN 2 VEHESMGEH HTHGID INMPEHGE FLODTETOTHETTS SHHSLILILGLITH
wimeur?

(A) uwBlev GBS (B) 2i11b 56007 [J S6iT

(C) ML Q\LI600TSH 6T (D) A inpmiin B

“When dies away desire, that woe of woes

Ev'n here the soul unceasing rapture knows”.

Which quote of Thirumular directly apt to this kural?

(A) Affliction is not known where no desires abide

(B) Purity consists of freedom from desire

(C) Desire is the root cause of all evil

(D) Control desires, and attain bliss

"@6OTLILD @6mLWIMIT SHevor(hLD 26U TG6U60TERILD

SI6OTLIS SI6T SI60TLIMI 618 19.60T

@ &&merfler CriflemLwimeT & e evifleir aUMs G 6TSI?

(A) 91euT@6VeVTIs: BeveumGh SleoTUD  (B) &Tilemln eTedTLIS 3j6umedleTemLn
(C) et & SITLSH MG 85TJ600T LD (D) openF el 2L,60TH &GO

Which book which speaks about Karikala’s reign?

(A) Agananooru (B) Mullaipattu

(C) Patitrupathu (D) Pattinapalai
&Iflemeventlet oLl Flenwls GMIG S CLIGD BTV 6T&?

(A) oj&BTETMI (B) wpevemeu I (p
©C) UBDLMILILIGSI (D) UL 1geoTLILITem 6V
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114.

115.

116.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

“Whate'er they fail to guard, o'er lips men guard should keep;

If not, through fault of tongue, they bitter tears shall weep”

What kind of one’s noble character is defined by this kural?

(A) Power of chosen words (B) The possession of self-restraint

(C) Learning (D) The knowledge of the Council Chamber
WM& meUm Frullepld BresmEs &melmshamey

GFMHTLUILT QFmLedWaHSEL LILGH"

@)@ M6IT 62 (H6UEDT 60T 675 G608 2_60T60TS & 600TS6enS L1 LML CUEFHMSI?

(A) Q&FmeLeUETTEMLD (B) 9IL&& LMD
(C) meval (D) oiemeuwinsev
Which of the following space missions were launched by PSLV?

1. Mangalyaan 2. Chandrayaan - 2

3. Chandrayaan - 1 4. IRNSS

(A)1,2and 3 (B)1,3and 4
(C)1and 3 (D) All the above
Nesreu(pLd 6Th 5 aflevorQauerlg &L L MGi&6T PSLV-9L60 UL ILIL L 60T?
1. LOMI8560 LI 60T 2. FHH ITUIET -2

3. FHSJTUl6o - 1 4. IRNSS

(A) 1,2 bOmID 3 (B) 1, 3 nhmilb 4

(C) 1 MOmid 3 (D) CLM&600TL. S60)60TS SILD

UN Food and Agriculture Organization decided to observe which year as the International
Year of Millets?

(A) 2018 (B) 2020 (C) 2023 (D) 2050

.. 2_600T6) LDMMILD CEUETITEIOTEMLING HLPGLD 6THS 600t FIalCHF HemeorILIUNTE6T
QL600TL_TS & flE55 SILnmetlss6Tens?

(A) 2018 (B) 2020 (C) 2023 (D) 2050

Which State won ‘Organ Donation Award’ given by Ministry of Health and Family Welfare?
(A) Kerala (B) Uttar Pradesh

(C) Karnataka (D) Tamil Nadu

&FHTSTIM HMNID GH WU HVSSHMM SMNFFSD QIPBIGLD "2 MILIL| &T6rs S M meor
(BB 6m6T” QEU6TTM LOMBlEVLD 6TSHI?

(A) Gasgerm (B) 25917 1yCs&h

(C) &syprLsT (D) s19hBI6
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118.

119.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Which of the following Government scheme was launched with an objective of “Slum free
India”?

(A) Pradhan Mantri Gram Sadak Yojana

(B) Rajiv Awas Yojana

(C) Indira Awas Yojana

(D) National Rural Livelihood Mission

NeTeu@ld  6THS T&HS HL LD “GuamsFuileenr @QBHWT” eerm GBMEss5E S L 60T
QEMLBIGLULLSI?

(A) Yigsmer WHH K KFTD F&585 CUITRETT

(B) pmedeu opeumeny GUUITEQeoTm

(C) @B M QLeumen GUITE60TT

(D) Ca&\W 2618 aUMPEUTSTT HILL LD

Temperature decreases at the rate of 6.5°C for every 1000 metres of ascent is called as
(A) Adiabatic lapse rate

(B) Normal lapse rate

(C) Negative lapse rate

(D) None of these

@6IQ6MIH 1000 WLLT 2 wWysHm 6.5°C aerm oemalley Qallllplensy GHemmeugl
eTeUUTM S eMLPGHELILIGHRMSI?

(A) QautiuiuflinrmmwdlevenT QeuliLl efpgFs)

(B) @wev QauLiLl efpFs)

(C) erB T QeuliLl afpFF

(D) @eummlev ergia]levemey

Match the following
World Tamil Conference Chief Minister
(a) 2nd (1968) 1. M.G. Ramachandran
(b) 4t (1974) 2. Karunanidhi
(c) 5% (1981) 3. C.N. Anna Durai
(d) 8t (1995) 4. J. Jayalalitha
QUMTBSS &
2 WES SLALWD IDTHITH WPSLeUT
(a) 292 (1968) 1. M.G. &g hS) yeor
(b) 4°2(1974) 2. H(HEOOTTEIS)
(c) 5%2(1981) 3. C.N. 3|600T600r T Sl60T
(d) 82 (1995) 4.J. QgueedsT
@ Mm @ @
(A) 2 3 4 1
(B) 3 2 1 4
© 1 4 2 3
(D) 3 1 2 4
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121.

122,

123.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

If the ratios formed using the numbers 2, 5, x, 20 in the same order are in proportion,
then x =
(A) 50 (B) 4 (O 10 (D)8

2, 5, x, 20 QH W 6TevoTH6T 265 auflemsulley LWeTLBGSSH jemnlld P& HIG6T lH S
FLOOMS @ @LILNeor, x =?
(A) 50 (B) 4 (O 10 (D) 8

The difference between the length and breadth of a rectangle is 23m. If its perimeter is 206m
then its area is

(A) 1795 m2 (B) 2520 m2 (C) 2240 m2 (D) 3250 m2

R0 Fa&ESETET BaTEHMHGD HVEHDHGD 2 6T6m Caumm® 2315, 3HelenL
FMHMETE| 206 LS 6Teofl6v FQF UGS S 60T LITLIL| 6T60T60T?

(A) 1795 152 (B) 2520 152 (C) 2240 152 (D) 3250 152

The average of 50 numbers is 30. If two numbers 35 and 40 are discarded, then the average
of the remaining numbers is nearly

(A) 28.32 (B) 28.78 (C) 29.27 (D) 29.68

50 erevorgserfleor FImEfl 30. 35, 40 LG @)(H 6T600TE: 606 158G 60TTeV LSS (LD EITEIT 6T6v0T 8561l 60T
Fyn&if] ereoreor?

(A) 28.32 (B) 28.78 (C) 29.27 (D) 29.68

Choose the incorrect statements about M. Karunanidhi

1. The Family Benefit Fund Scheme (FBF) was introduced in the year 1974.

2. Kamarajar birthday celebrated as “Education Development Day” in all the schools was
announced in the year 2006.

3. First World Classical Tamil Conference held at Coimbatore in the year 2010

4. Free supply of footwear to children’s (once in 2 years) introduced in the year 1999

(A) 1 only (B) 2 only (C) 3 only (D) 4 only

. BT THIG LHMIW SeuTer fahenms CHIHES0

1. 1974 Qulb 9L600TI 60 GHDL Hev 2 6 HL LD QMW SLILGSSLILL LS.

2. sTwrTyd Umbs Brer ‘sGeell eueTFFs BIeTms:” enersdg  Lieteflaerflain
Q& mevor LITL_L1LI(HILD 6T60T 2006-60 jMlelld&HLILLL G

3. WHL 2005 HUIPF QFDLQWTY TBITLTEIEG 2010 LD 3L600T(H CHTemaluiley
BOLQUDMSI

4. SGLHMSHEHHG (2 UMLMBIGEHEHEG R0 (WLenMm) @6VelTF STeV6&H6T aILPMHIEGLD
LD 1999 S0 b600T(H SHMIWPSLILIGSSLILIL LS.

(A) 1 L@ (B) 2 nL_(®\b (C) 3 LB (D) 4 n_ @b
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

124. Tamil Nadu Corporation for Development of Women (TNCDW) was established to empower

125.

the women through education, employment, economic development in the year __

(A) 1963 (B) 1973 (C) 1983 (D) 1993

Hevall, GauemeveumuiLiL], QUIBETTSTT GLWLUTH UHWeuMMIET ePEVUD ©6LIG00TE 606
CLLUMGSIUGHETEH SWPBHTH wWw&eflFHey GLLUTL(G  Blmieuerd Bloellir L
Spe0oT__

(A) 1963 (B) 1973 (C) 1983 (D) 1993

Which is the first state in the country to achieve universal coverage of the entire village
panchayats in establishment of Solid Waste Management Systems with waste collection,
segregation and disposal facilities?

(A) Tamilnadu (B) Kerala

(C) Maharastra (D) Andhra Pradesh

GLeUsmeT CFsflgs, ST flgsey womid sWleseamer ULmUUBSSID
QAUFHHEBLT Falgll HLES5W6 CeTeanng T L ML &H6T SeMaTHS HImn
et ML FGeflain (NWenuwms: gHLIB SS W 6TeT @)hEH Wmallesr (Ln& 6V LOMBlevLD 6TSI?

(A) sOLBEIGH (B) @ssgerm

(C) &nymeqqrm (D) &8 rU N7Cs&Ld

126. As per the census 2011, which district of Tamilnadu possesses the highest population density?

127.

(A) Chennai (B) Kanyakumari  (C) Tiruvallur (D) Madurai
2011-94D ,600T(H LNEG6T Q&HTeNS &600TH6&HMIILN6TLI, SLOLDBITL Q60T 6THS LOMeUL L LD
N8 HGLDTET DG HETRH TS L FTHH U 6emeTd 6 & meuor(h 6iTemgI?

(A) Q& etTemICOT (B) ssetreofl Lol (C) S meueTeny (D) wgieng

Choose the incorrect pair

(A) Midbrain - Controls visual and auditory reflexes

(B) Cerebellum - Coordinates voluntary movements and also maintains
body balance

(C) Pons - Controls respiration and sleep cycle

(D) Medulla oblongata - Acts as a relay centre

SeUDITET @)6n6Tens CHIHESMH

(A) B enemer - UMFenel mmiD C&LLedeiT o 6vfl&Feng &
QEFWLEMm6T L QLILGSSIHMS!

(B) e\ mieLpemerr - @WIMIG &6 T 86rl60T @) U158 B8 6065
RBBIFMEITSHL HMID 2 1L60 SFlOFlenevemnull]
GLIsTDIG 6V

(C) umedrerv - FOUMFLD LDMHMILD 2 M&E FLPMTF &6 6TdH
SLOUUOGSSH DS

(D) wh@eTib - &5 MWINTS QFWOLOKRMS
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128.

129.

130.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCKTEST- 3
Silver metal is a white lustrous metal, over a period of time silver articles become black. Why?
(A) Hydrogen sulphide gas preserved in atmosphere reacts with Silver to form a
black coating
(B) Oxygen in atmosphere reacts with Silver to form a black coating
(C) Silver reacts with Nitrogen to form Silver nitride, which is black
(D) Silver reacts with moisture to form black coating
QeuaTerfl, e sp6rfl(HLD @ 6UETITEMLOUITEDT 2_GEVITEHLOMEG LD, 3LE0TITEV [HITL_S6T QlFL6VE ClF6V6Y,
QeuaTerfludledT BIMLD SHIHLILIMTS LOMMIEIS J60T?
(A) Qeueiterfl, euerflLD6TOTL_6VE& TV 2 _6ITET MAML_[FR6T F6LemnLI( aUMUe|L 6T aflemeor b,
&SGLIL BIMLOMS TS MS
(B) @eueterfl, auerflineoor_sugHev 2 6Tem a0l er allemerrfH&l, &HLIL BIMWOTS
LTS DS
(C) Qeuererfl, emmpL sl er elemer g S&HHLIL] Blmmer GeusTerl enBLCIL LTS
LTOISH DS
(D) Qeusiterfl, smmnlev 2 6iTer FILILSESIL 60T ellemeoriflb&I, S@HLIL| BIMLOMTES TS M

Which of the following disputes fall under the Original Jurisdiction of the Supreme Court?

1. Ordinary dispute of commercial nature between the Centre and the States.

2. Inter-State River Water Disputes.

3. Recovery of damages by a State against the Centre.

(A) 2 only (B) 3 only

(G 1and 3 (D) None of these

LY esreuneusTeummlev 6Ths Fl&o&6056T 2 FFHHNTMES S 6T (NSCVML| AUH ST euLbLN 6o

GLD eUH G 6oTM6OT?

1. DSHW, WIBV ATHFSHEHHESG @enLGWumer e6leolls FHUleVTeT &S TIevor
F1 88605617

2. LDIT[BI6VIBIS EH &S 60V CUIWLITET HS) B &85 608 6T

3. IDMBIVESTE INSH U 3T56EG JHLIGLWD CF55m5 F(H Q&F IS0

(A) 2 0L _(pILD (B) 3 (b

(©) 1 Haybd 3 (D) @eumnilev ggiLslevemney

Where will be the National Maritime Heritage Museum built, with which country’s help?
(A) Mumbai, England (B) Kolkata, England

(C) Goa, Portugal (D) Lothal, Portugal

CaFW sLevFmy umyburflu SIGRSTLAWD 66, 6H&S BILlger 2 gellu]Leor
IMNESHLILIL Q| 6TETSI?

(A) wolbemLl, @BIRVTH S (B) Q&MeL& 55T, @BISVTHS

(C) Gmmeum, GUITTEF &5 60 (D) Gevmg s 60, GLIMTTE & 56V
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131.

132.

133.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Choose the correct statement about Mansabdari system

1. It was introduced by Akbar

2. Mansabdar rank was dependent on Zat and Sawar

3. The rank of Mansabdar was hereditary during Akbar’s time

(A) 1 only (B) 3 only

(C)1and 2 (D) All the above

earELIf enm LHN Flwner aphennsd CHTHAS0

1. @56 HUT SIMWNGLID QEFWSTH

2. DeTFLISTHT LUgell &ML, Faumy S Wealmenm & HS (HHSeor

3. YGLUGOLW Sl FE &MeusHer WerelisTy usel urbueny o flenn srihs

LI 600t | W M@ LD
(A)1 (b (B) 3 nL_(hb
(C) 1 mHmid 2 (D) GLoM&600TL. 2| 6M60TSHSILN

Choose the correct organization mentioned in the given statements

1. It was the first secular organization in the country to devote itself to the betterment of
underprivileged, rural and tribal people

2. It has its headquarters in Pune

(A) Indian National Congress

(B) Servants of India Society

(C) Hindustan Socialist Republican Association

(D) Bharata Mata Association

QE&EMHSHHILLL gammisseflev @MU UL B eTer FifluimeT SienlienuUs CHTHA S M

1. YNersmGw, 2arysh Wmmin LpkiGlguiler waseflar CUUTL (HEHEMTEHS 566 6T
ST LILI600(1 5 518 Q&MetorL BITL_IQ 60T (LNG6VMTOISI IDGEFFTTLMM eMIDLIL| @ SIQMTGLD

2. @S SMLILNET HemevemnwsLID LeTmelleL @)\ hHSH S

(A) @bH W CHH W sMHEIG T6er

(B) @b W LieooflWmer(j &migsLn

(C) @mbalevgmer GFmFedlevl. GLQWTa SfeninLiL]

(D) UMys WMHT YeMIDLIL]

Which Pallava king had the names “Vatya Vidyadharan, Adodhya Thamburu, Veena
Naradan”?

(A) Mahendravarman (B) Parameswaran

(C) Rajasimha (D) Nandhi Varman

"QUMS W el & WIS T60T, 2GS ME I SLDL|([H, 6600T THITI&60T” 6T6dTM QLIWITHem6TL] QUMMI(BHS
LI6V6V6Y LDGOTEOTEOT WIITIJ?

(A) DC&HBHS FaUTLOET (B) ugyGLeveauTesT

(C) @rmeg Sibioesr (D) BbS 6uijLoesT
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134.

135.

136.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

What is the rank of Tamil Nadu in population density among Indian states?

(A) 11 (B) 12 ©e6 (D) 14
@S W LDMHBIEVEISGEH6T IN&&6T QS5 MTeNd L TEHHUN6L &LALDBITL Q60T STHl6M6V 6T6OTET?
(A) 11 (B) 12 ©6 (D) 14

Choose the correct statement

1. Simla deputation worked as a catalyst for the foundation of the All India Muslim League
(AIML) in 1906

2. A group of big zamindars, erstwhile Nawabs and ex-bureaucrats became active members
of this movement

3. The League supported the partition of Bengal, demanded separate electorates for Muslims

(A)1and 2 (B)2and 3

(C)1and 3 (D) All the above

Flwmer gaHenmsd CEIHOSH

1. Albeurm MBTE), B @B U Wevedld 6§86 1906-4D 3LevoT(h 2 (HEUTISME 6R(H
STGHHUITEH QF WL L S

2. @eUWESESH QLD QLSETSTTEET, (LDEOTEOTITOT BeUMLILIS6T WMMID (LD6ST6OT TeT
G EMTISSIATH & GRCWTT 2 MILILNeTIS6TTS @) 0hHHE G&Wevmmmlery

3. @5 6S&&mersl,  eumismerll  Lflallemerr,  (WpeeINIDSGEHESETOT  H6oflHOHTESHS
Gamifléend GLIMETmalMMIeL 65 &HIemLpLIemLI H6L SIS

(A) 1 mHmib 2 (B) 2 nmmih 3

O 1wmmibd 3 (D) Gomas6voTL. 3|6Mm60TS SILD

“Mean is the friendship that men blazon forth,

'He's thus to me' and 'such to him my worth"”

Which friendship will appear mean according to Thirukkural?
(A) Praising their friendship themselves

(B) Expecting others praising their friendship

(C) Expressing their distress to friends

(D) None of the above

"@) 6M60T LT @)U TLNE G @)60T60TLDWIITLD 6TEOTMI

LjemeoT U enild L6V Q6vedTenILD HL L]"

FHHHGSMET ST (HILD BLPMeoT HLL| 678 &H6M W GI?

(A) srhIseT BLLNemers SMGD L|&HLDSH 6D

(B) b BLemUIL LIDT L&SWWDTmI TS FUTTE G560

(C) Bris6T SIOTUSMS BTUT&HERSHEGS Q5TIWLILGS SIS0
(D) CmssetorL eTg16L8l6L6mI6V
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140.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

“To him who knows not how to smile in kindly mirth,

Darkness in daytime broods o'er all the vast and mighty earth”.

To which kind of persons, the world would be dark even in the daytime?
(A) For those who unknown to laugh

(B) For angry persons

(C) For those who unknown to associate with others

(D) For those who unknown to lead their life

"H&BEVEUEVEVT VLTS MUI(IH EHITeVLD

LS IDLMD LIL L 60Tml @\ (HeiT

THHM &L G 60015 H6UTEG 2 605D LIGeNaID UL LITH @ IH&ELD?
(A) 585 Qs lUMEaITSEHEH G

(B) GamuUsSEHTITSHEHH G

(O) Umern® LP&sS AsKWMTESIEEHES

(D) aump Qs WNg el e ehee

Which of the following groups participate in the election of the Vice-President but not the
President?

1. Elected members of the Lok Sabha

2. Nominated members of the Lok Sabha

3. Elected members of the Legislative Assemblies

4. Nominated members of the Legislative Assemblies

(A) 2 only (B) 2 and 4 (C©)1,3and 4 (D) 2,3and 4

L etTeupeueTeummiley Slemeoord GLQWLITERS SHemevel] CHISGNev LUMCHMHM GlGWLTss
FHenevall] CHIHN6 LIBICHMHETS & (LD 6THI?

1. G5 HOSH&SLILLL InGHaTan6l 2 ML 6T T8 6T

2. In& s ememeuuileor BlulneT 2. MILILS 6T 86T

3. FLLUCUTemeuuilert CHIHOSHI&HELILILL 2 MILILN60T &6

4. FLLUIGUITemeuul 6T Bluineor 2 miliLeor & 6T

(A) 2 L@ (B) 2 npaiid 4 (©)1,3womib4 (D)2, 3 WODID 4

To whom Kabilar told about the condition of people in the absence of the king Paari?

(A) Kopperuncholan (B) Selva Kadumko Valia Athan

(C) Adiyaman Neduman Anji (D) Kulothunga Cholan

&S0 Wriflid Lmf] LDeTeoTedT @)6V6VITS D& G660 Bleney GMS S FuMleoTTH?
(A) GaITLIQILI(H©EHBF TLD 60T (B) QF6veus: sHIMBIGHT 6umLUITE 60T
(C) @1® winmedt QB (H)LO 60T EhH & (D) &CGeunsaimIg G& 60T

Which copper plate praises Madurai as “Thamizhkoodal”?

(A) Chinnamanur copper plate (B) Velvikudi copper plate
(C) Thalavaipuram copper plate (D) Sivakasi copper plate
'SP &G L6V" 6TeTMI LD SIEOTeNUWILI L|&HLPHS QELICL® 6TS5I1?

(A) FetreorngTT QEFLICLIMH (B) Gauemall&@ 19 Q&LIGLMH
(C) memeumiiyyw Q&LGU(H (D) Rlausmd QFLIGUD
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Who is awarded with “Lifetime of Public Service Award -2019” by Economic Times?
(A) Prathiba Patil (B) Narendra Modi
(C) Nirmala Sitharaman (D) Arun Jaitley

TEHGETMIANG emL Doy BIeMG6T “aumpBTeT QuUME CFemeu el(H&H-2019" WMHEHGS
QUPMIGSLILIL L &I?

(A) Yg&um umigev (B) BGIH& T GLomig

(C) BlFWeVT E&TFmLneoT (D) sj@mevor QgL60

The custodian of India’s foreign exchange reserve is

(A) Department of Finance

(B) Comptroller and Auditor General

(C) Reserve Bank of India

(D) Finance Secretary

@BH W BB Q&F6VTelensl] @) (HLIL|86r160T LIMEI&8TeUevedsT WITH?
(A) pI®SsIM

(B) 36m6v6mLN G 8560078 &5 8560011 860) 8 WLITETIT

(C) @bsw fl&re aumi&)

(D) pI&@\Sa16mm Q& Weumery

Who recommended the formation of Monetary Policy Committee which determines India’s
Monetary Policies?

(A) Bimal Jalan (B) Rangarajan

(C) P. Chidambaram (D) Urjit Patel

@B Wmelledr Leorellulel Q& TeTen&HEmeT SInMellsH@Gl  Leamaluls) Q& meaTens:&
G gHLUGSS UG HSIOTSSeT WMH?

(A) Ninmev egevmedT (B) prispmeyeoT

(O u. AsIbUFLD (D) 27815 LIGL6V

Which industry was dereserved in 1993?

(A) Copper Mining (B) Railways

(C) Atomic energy (D) Atomic minerals
1993-60 (LTLIHG| BH&LILLL QSTHeLEHImM 6TSHI?

(A) QFbY &IHsS Q5T (B) @oullevGeu

(C) o1 9LMMeL (D) oys1 & 60flL0 IS 6T

Income derived from machines and other appliances made by man is called as

(A) Rent (B) Income

(C) Quasi - Rent (D) Capital Income

D6oflGHETITL 2 (FeUMGSHLILIL L @WBHTHIGET mmbh LN9n 2 LsTakiI&efley @mbal
QUMLILI(HLD 6UHEUTUI 6T60T eMP&ESLILIGGH MSI

(A) aurryd (B) au@meurmul

(C) Gumed aumyLd (D) eLp6u s 60T QU (HEUTU
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Why do spring tides occur?

(A) Collective gravitational pull of the sun and moon on the earth when sun, moon and

earth aligned in the same line

(B) Collective gravitational pull of the sun and moon on the earth when sun, moon and the
earth are in different directions

(C) Ocean currents

(D) None of these

6J60T 2_WIT & MmIG6T 6 MLI(H & 6T M 60T1?

(A) yell, giflwesr LHMID FHEHTeT @CF CHICHTLIQN 2 aTemGLMGI, Lieluller GG meor
GlwedT LMD BlevallaT Ful (B FFLIL aflen g ulleormev

(B) yel, @iflwett nmmild FBH&H Ier QeusiCaim Henaulley 2 6Tem CLIME Lielulledr LS meor
GflwedT LMD BlevallaT Fal (B FFLIL aflena ulermev

(©) QuUEBIsL6 BCTTLL &S 6oTmev

(D) @eumnilev gaiLdleveneu

The average age of the mother and her six children is 12 years which is reduced by 5 years if
the age of the mother is excluded. Age of mother is

(A) 40 (B) 42 (C) 48 (D) 50

ST mmild eaufler 6 GhHamsseflear Frnarfl alwg 12 LB &er. HTuller alwg
B&S&LILLLTE, 3B FImEFfl 5 31,600 (H&6T &mMBME. &mulledr eulIZ 6TeoTeor?

(A) 40 (B) 42 (C) 48 (D) 50

Which of the following mountain chains has two dissimilar types of vegetation on its two

slopes?
(A) Aravalli Range (B) Vindhya Range
(C) Eastern Ghats (D) Western Ghats

NeTeu@ld 6THS Wemevs QSTLIfl ser @uevor(h Fiflaseflavid @ revor( elgLnmeot
SITEUT RIS 6T & Mevor LI LI(H &) 60T M 6oT?

(A) oyraueTerf] LDEMEVSQSTLIT (B) S W LDemeVSHQSTLIT

(C) P& QASTLIFR nem6v (D) G QBTLIESF Lnemev

How much time will it take for an amount X 2,000 to double at a simple interest rate 8%?

(A) 25 V2 years (B) 10 VY2 years

(C) 8 Y2 years (D) 12 Y2 years

8% seaflall g efgsHev 2,000 6T60TM QFHTeMEH @QILIQLILMSG WTNISHGSFIWL &HTeul
6T60T60T?

(A) 25 Y2 oy,600T(H SH6IT (B) 10 V2 gyeoor(H&H6T

(C) 8 V2 oy eoor(h 6T (D) 12 V2 oy ev0t(H) 6T
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MOCK TEST- 3

. 1 1, . . 1
150. The sum of two rational numbers 3 and , is x times the difference between two numbers 3 and

i What is the value of x?

(A9 (B) 8 ©)6 (D) 7

% LOMHMILD i 6ttt @ HNRSUNMI 6T600TS 6T 160T  For(H) 6V TEOTS, § LM MILD % 6T6dTm @)\ ([
6T600T 85611 60T 6111 8565 WITEF & &) 60T X LOL_BI& 6T6dT16V X -60T LOG)LIL| 6T60TE0T?

(A9 (B) 8 (©)6 (D)7

151. Acando a certain job in 12 days. B is 60% more efficient than A. How many days does B alone
take to do the same job?
(A) 10 days (B) 11§ days ©7 % days (D) 6% days
A e(H Geuemevemill 12 BITL Serfley (oL LI B etedtieurm A &8 il 60% 215 & Hmevien L6t
6Teoflev B DL (HD 2ih& Ceauemeveml (DI85 6155 6M60T HITL_ &6 3b@&LD?

(A) 10 BITL&6T (B) 11% BITL_ 86T (©) 7% BITL_&6IT (D) 62 IBITL_ 86T

152. Choose the correct statements regarding Magnesite ore

1. Magnesite ore which is used for making refractory materials are available in the states of
Uttarakhand, Tamil Nadu, Rajasthan and Karnataka in India.

2. India ranks eleventh place by producing 2.99lakh Metric Ton out of World Magnesite
production during the year 2016-17.

3. 75% of India’s Magnesite is produced in Tamil Nadu and India has 5% of world
reserve

4. It is superior in quality because of its specific cryptocrystalline structure and highly
preferred by the Steel industries.

(A)1and 3 (B)1,2and 3

(C)2and 3 (D) All the above

GGaTengFL ST LmMlw Fiflulmer dammisemners CoTHA S M)

1. @bHwmele) 2 SFF&meorl, SOLDBTGH), TTR6VSTET LDMMID &I HITL&IT

DM BleVMEIGETIEL QeI SMTHIG QUTIHL&6T SWMfléhs LweTUGLD CLn&ereand L

Mg P GHHMSI

2. 2016-17940 3,600T(H GG 2 MUSH UL, @HHWIT 2.99 @6Vl &0 QoL fl& LedT
GGETNFL 2 MLUSH QFUIZ 2 euseaTalley 11618 @)L &F60 2 _6Teng!

3. @BHwmeler 75% LmseaTengL. SOLBTLIQ0 2 MUSSH QFUWlILGSHME Gsild,
2 UE6L 2 6T6T GG aTenF L HMEHIe6 5% @BFH W mallev 2 6Temg)

4. @& GMIUILL UIQs LG SemDLILL6T 2 WTHE SHTHSIL 60T 2_6TeTSHT6D, 6T5E
QaTHMHETamevs6Tflev AFH&HIMEHL LwWeTLOSSLILGSH mS!

(A) 1 0pod 3 (B) 1, 2 ooid 3

(C) 2 bmmib 3 (D) Gom&s600TL. 3|6Mm60TSH SN
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153. “Kilkari” - A mobile-based application launched for the purpose of

(A) To know the status of Keezadi excavation

(B) Free weekly audio messages about pregnancy, child birth and care

(C) Free weekly audio messages about Iron and folic Acid Supplementation Programme

(D) None of the above

"HOLSTH” QTemLE QFWe) QSTLRISLILLL&SMHE&TeT GhTEHLID

(A) &g IspeauTrTUFRuUleT Blenevemul omiwl

(B) srLiud, Gwhens Nmliy wmmibd ugrifliiy umnlw @evels eumrgmhHT CaHeermedl
SGMIEHEFUIF) &Hem6T 6ULOMHIS

(©) @ouyssss wmHmih CUTiE ey LTEHMISHET QIPBIGIL S LD ummlul
@evalF uMTIMHH T CoHQ6TMed &MmiEhe & UIH & 6m6T aLPMIGS

(D) Comamnwl ergie|Ld @) 6vemev

154. All India Women’s Conference (AIWC) to address the problems of women education and

155.

fought for the upliftment of women was formed in the year

(A) 1917 (B) 1927 (C) 1930 (D) 1937

QuUetoTSH6T Sevall GMIGHS LNTEF 6metTdhemeT 6m&WITEHeUSMEMTHE|N LMMILD GLI6ooTds6rfl 60T
GUUMLIEM&ETES CUTTTLADL IH eV @bHH W QL6 WTHTH (AIWC) 61H5E5 3,600T(H
Bl oIQILILL L gI?

(A) 1917 (B) 1927 (C) 1930 (D) 1937

Choose the correct statements
1. Commensalism is an interaction between organisms of different species in which both
organisms benefit but neither is dependent on the relationship

2. Soil bacteria/fungi and plants growing in the soil is an example of Proto cooperation

3. Roots of terrestrial plants and fungal hyphae is Mycorrhiza

(A) 1and 3 (B)1and 2

(C)2and 3 (D) All the above

Fflumer gammsmens CHIHES M

1. 2 L 60T 2 600Temild [Bl6m6v 6T6dT LG @) (H G eueuGeumi &) mnileor i & emh & 8 6oL G Ul U TeoT
@emLEF Q&weusefley @UeooT(HD LIWETeLHMS ILE0TTED  6R60TeNM  660TMI
FIIHH TS 2 M6 LNemm GG TeuorL [Bl&LDEITE LD

2. DEOOTEUMLD UMSICHIUIMISGET/LLEHenFsH6aT mmih STaJBI&HEEHE @)6mL Gululmeor
Fal_(hmey, (PeTCeTM] dal HMe&HES T SHSISTLLMTGLD

3. MGECHETIEFT (U,Eehen&Calflgen)-2 Wi Smeuy GalfsHE@hsHGD L, Ehemn & s Ehe @& L0
@ 6L GUIWITeT 2_Mey

(A) 1bmmId 3 (B) 1 ommiib 2

(C) 2 ommib 3 (D) Gom&600TL. 2|6m60TSH SILD
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Who is/are the founding members of Women’s India Association (1917)?

(A) Annie Besant (B) Margaret Cousins

(C) Muthu Lakshmi Reddy (D) All the above

@IHS WL QLIS 6T FMmiIgESF 601 (1917) Blmieuer 2 mililNeri/2 miliLerige6T Wimy?
(A) oy6t1evll QUIFETL (B) bmisQ L && edTerv

(©) s el &l QULig (D) CLoM&600TL | 60I60TEU(HLD

Why we get the spectrum when white light is refracted by a transparent medium?

(A) The angle of refraction is different for different colours

(B) Different coloured lights are bent through different angles

(C) The angle of reflection is different for different colours

(D) Both A and B

QeuaTQeTmeflmental, eefl@GLh 26T H5H 60 GFeuavld GLIMS! BITD 66T HIMLOTEM6VEmILI
QUMIBCMTLD?

(A) eeflaag et elleuE G MerornMeTSl BlMMBIGHEM6TL QLITMIS S LDTMILIGSR mS!

(B) QeusuGeum BIMMBIGET QeuelColm Comeror 36medserley allevsel 3j6mL 56T meor

(C) eerflaa@fletr TR QI merlLILI8 C8MeuTLOMT6TS BIMMIGE6TL QUITMISS IDmTOILG S M S
(D) A wpayid B @uesorpid

What was the toll-free number of Amma Call Centre that was launched in 2016?

(A) 1082 (B) 1100 (C) 1102 (D) 1108

2016-60 QSTLAGSGLLULL ST Semplil LWSHMHHETEr &L LeordleueuT
Q& Mem6VELIG 6TEUOT 6TEOTEOT?

(A) 1082 (B) 1100 (C) 1102 (D) 1108

Which of the following initiatives is/are developed by NITI Aayog to promote cooperative
federalism?

1. Composite Water Management Index

2. Sustainable Action for Transforming Human Capital

3. Aspirational District Programme

4. Ek Bharat Shrestha Bharat

(A) 4 only (B)2and 4 (C©) 2,3and 4 (D)1,2,3and 4
Neraumeausraimmilel snl Bhimeys Sl LTl Faw aalil(Gss BlFH CWTHS6Tmen
2 (HEUMESLILILL (LNETOUWMGG6T 6TSI/6T6m61?

1. @BEIR e HS BT Geumeoremnind &mMlui®k

2. IDG:G6T QUET eLNEVSHETHEMS LDMMHMIWLENDLILIGMHSHTET B8 Q& wevLImh

3. QY FeUW6TeT MaILl L S L LD

4. @G UMISLL MBS LIMTESLD

(A) 4 L@ (B) 2 npoiid 4 (C)2,3wmmib 4 (D) 1,2, 3 HMID 4
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160. Which of the following constitutes the special powers of the Rajya Sabha?

1. It can authorises the Parliament to create new All-India Services common to both
the Centre and States.

2. It can authorises the Parliament to make a law on a subject enumerated in the State List
and Concurrent List.

3. Removal of the Vice-President.

(A) 1 only (B)1and 2 (C)1and3 (D)2 and 3

LY edTeupeusoreummlev eTemel LOMBlevmIgGememn el uiledr FImLUIL] HHP ST HIGET?

1. WSHW WHMID WIBHleV THFEG CLIMTSICUTET eMeTSHHHSH W G5 el Tem 60T UlSHem s
2 (HEUMES BTLITEBLETMSH MGG A &MTL6T&HS (LI

2. WOMBleVEIGETemal  OMElew WMmmID Qurgl ulluedey @&MILNLIUL I [HE LD
P& TIRIHET6 BTLTEHETMD FLL LD @UMMD AF&T6 s (DD

3. SIS GlULTHS Semeveuifler Lgal HasLI0

(A) 1 (D (B) 1 nmmitd 2 (©) 1 wmmid 3 (D) 2 npmib 3

161. Choose the incorrect pair

(A) Domingo Paes - Portuguese

(B) Nicolo de Conti - Italian

(C) Abdur Razzak - Persia

(D) Ibn Battuta - China

SUDTET GeneuuTenlsh CHTHOSMH!

(A) CLMABIGSHIT Liulen - GUTIEFSHEA W
(B) ml&CaHmGeuT 19 Co5MeiTLy. : @55 m6ed

(C) »ugl6L p&FMTEH - UTFEsLD

(D) @uetr ugnsm - Feorm

162. Choose the incorrect statement about Industrial Development in India

(A) The first jute mill in Calcutta was founded in 1855 and owned by the Europeans

(B) The first Indian owned paper mill-Couper Paper Mill was setup in 1882 in Lucknow

(C) The first Indian cotton mill was known as the Bombay Spinning and Weaving Company

(D) The first Indian-owned National Tannery was established in 1905 in Mumbai

@BpHwmalle Qs Mblevgemm aleTIER MmN SaUMTeT FaMenms CHTHA S5 M

(A) WseL FeaoTel 2 MUSH OV HUESHTaNl 1855-@60 BlmiaulILl L g WMHMILD
oCITUINWTSHEHHGE QFMHS 0TS

(B) evsGermailey 1882-60 @BHWFTHEHHGTF QFMHSIOMET (NH6V HTHG 3,606V UIITeoT
Fa iU GuLILT W6V Sem&GSLILL LS

(C) @p@wmeler WHL LGS aemev LIMDGCL evlilerefley ojeoorl. afedlm &G L 6ol
6TEOTMI Q|6MLP&SLILILL G

(D) 1905-@6V (NS TN H6VMTSH QHFUIIHEHGEF QFMTHSLOMeT CHFW CHmev LI eofl(hLD
QaTEMmFTemev (WL LIUN6 9emn&&LILLL G
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Who among the following is the king of Parambu hill?

(A) Paari (B) Kaari (C) Elini (D) Nalli
LNedreuGeurmflev LIMLDL| LDEM6V S{JT& 60T WITI?
(A) ur (B) &mifl (C) ererflenf] (D) meirerfl

1. The Nizam, the Marathas and the English allied together against Haidar Ali

2. At the end of the war, Treaty of Madras was signed

Which of the following war was related to the above statements?

(A) Third Anglo — Mysore war

(B) First Anglo-Mysore war

(C) First Anglo-Maratha war

(D) Second Anglo-Maratha war

1. BIYMD, WLITSESTEHESET, WHBRIFRCWITHET amST NNEG aHITEH eTm
3) 60)600T [5G 60T [J.

2. Gumrflest wolgeflev QL FTeN LILBSLD ME&QUIWSH L LILL LS

L9 6dT6 (T 6 60T6U D M1 6T GLOM & ITEILD S MM FHEH 6T QS TLFLIML W GLIT 6T&HI?

(A) epeTmmaUSl oL BISIG -G T CUITH

(B) Whseurmih QL BIHECT-mNGT GLITH

(©) WhseMb I BIRCM-OTTESST CUITH

(D) @evorL_mLd o, BISRGT-0ITSST GLITT

Who is the contemporary of Nathamuni who compiled “Nalayira Divya Prabandham”?

(A) Vijayalaya Chola (B) Parantaka I

(C) Rajarajan I (D) Kulothungan I

"By Bleuellw ITUBSHMSES " QBTG S BT (LN60I1&H6T WMIHem L FLOSTEVSHSHaIT?
(A) eflggwimevwl G&FmLpedr (B) o 6umid LI TIHE & 60T

(C) Whs6eLITID @I TTITE60T (D) wrmeumid &GevITE SiMhI8s 60T

Where will 314 Khelo India Youth Games to be held?

(A) Mumbai (B) Pune (C) Guwahati (D) New Delhi
398 G&:CBeuIT @HH W G emeTehi aflemeTw T (H CUITLLY 6TMHIEG HeML QLM 2_6TemgI?
(A) epibenLs (B) LiGeor ©) sajamms® (D) Lg Heved

Mahaparinirvan Diwas related to which of the following personality?

(A) B.R. Ambedkar (B) Sardar Vallabhbhai Patel
(C) J.P. Kripalani (D) Deendayal Upadhyaya
&MU Bl Feumet Heumsiv LleTeu(BLd 6TH&S HLIIHLET Q&ML TL|60LUIZI?
(A) B.R. 9|lbGU& & (B) sy eueveuLIMUI LIGL 6V
(C) J.P. :\@umaTent] (D) S60T8WIm6T 2 LIMg WImum

Page 44

Kindly Send Me Your Key Answers to Our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

168. Which is the first tribal language that isusedin =~ Rajya Sabha recently?

169.

170.

171.

172.

(A) Bodo (B) Dogri (C) Maithili (D) Santhali
FLSLISH6 LDMBlevmIsGeTenealuilev LIWeTURSSLILIL L (&6 LpmiGlquiler Qomdl ergi?
(A) GumeLm (B) GLmsIifl (C) e ® 6 (D) s med

The delimitation of local bodies is done by which of the following organization?

(A) State Legislature (B) State Election Commission

(C) Parliament (D) Election Commission of India
FELDG600TL 6T[HS | 6MLOLILITEY 2_6TeTTL G 6TeVEM6V ST QUM TUIEMM @ & U LI(H) 5 68T 60T?
(A) nmBlev FLLFeL (B) nmmlev &5 60 3, 606007 ULILD

(C) uMymEBLOETMLD (D) @S W CHITH6V 3,60)600TLLILD

Which organization published “Global Migration Report 20207?

(A) UNESCO

(B) International Organisation for Migration

(C) Ministry of Home Affairs

(D) NITT Aayog

"2 sl @ L IDGLWTe] MI&end 2020" 67HGE 2|6mLILITeV QederflullLiLil L gi?
(A) WQeoTervBasIT

(B) @L1b QUWFe&&TeT FeUGHE 3jemLOLIL]

(C) 2_6TmI60M SMDEFFHLD

(D) I <L,CwW s

Which part of Himalayas lying between Sutluj and Kali rivers?

(A) Assam Himalayas (B) Kumaon Himalayas

(C) Nepal Himalayas (D) Purvanchal Himalayas

6TH& @LWeneVL] LGS FLevsy InmmILD el 55 & Eh &S emL_Ul6v & meoor LIS mSI?
(A) Sj6venVIMD @)L UILD6EM 6V &H6IT (B) &LDTU60T @)LOUILD6DY6V & 6T

(C) GruImeTLD @) LOUILDED6V &6T (D) WIeaIMEh&6L @)LOUWILDEM6EVEH6IT

Choose the correct statements

1. There are no volcanoes in the Himalayan region of India

2. Barren island is an only active volcano in India

3. There are no volcanoes in Australia

(A)1and 2 (B)2and 3

(G 1and 3 (D) All the above

Fflumer gammisemens CHIHES M

1. @BHwmeller @il LiGE U6 eTifllnemeussGerT @)60emev

2. UMyeT S @B WMellev 2 6TeT CT QFUW LMD 6TflnemeuImELD
3. G Credlwmalev eTflinemevs:GeT @)6L6m6v

(A) 1 lommild 2 (B) 2 nmmith 3
(C)1wmmib 3 (D) GLom&s600TL. 2{6M60TSH SILD
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173.

174.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Ramesh and Meena divide a sum of 225,000 in the ratio 3:2 respectively. If 25,000 is added
to each of their shares. What is the new ratio of Meena and Ramesh’s share?

(A)4:3 (B) 3: 4 (©)3:2 (D)2:3

7CeaY, WerTm X 25,000 8 3:2 etetTm NBRGEHFH 6L LNflGs586 QameoLer). 356 LNnG
R6IQMIHEUIHLD SeoT LMK X 5,000 (N565H QF UK TmeTT. SMHCUMSE LT8G
TCLAY &G LD 2 6T LIS 6T LG W eGS0 6T6T6or?

(A)4:3 (B) 3: 4 (C)3:2 (D)2:3

Income in 3 months of a person is same as his expenditure in 4 months. If his annual saving
is X 600. What is his monthly income?

(A)X 200 (B)X 250 (©) X300 (D)X 600

@ [HeUN16dT eLNETMI LOME GUBHLOMETID B{6UIfl6dT BITETE DMEH QFVEYE S FLOLD. 6UIHETL LI
aIBL CFLALIL X 600 348 @ (BHS TV 3j6Ufl6dr LDMS QUHLOITETLD 6TEUAIETE)?

(A)X 200 (B)X 250 (C)x 300 (D)X 600

175. A vendor offers a discount of 10% on a watch and still makes a profit of 26%. What is the

176.

actual cost price if the marked price is X 840?

(A)X 600 (B)X 700 (C)x 800 (D)X 650

@ MHUMETWITETY, M&EHHQSGTISHMNHEG 10% SHeTEbLly $HE LNMm@&GWm 26% eumULD
OLEMTYT. &6 GMISGS allemev X 840 6T6or16V 95607 eUMHIG UL 6l6m6ey 6T6dTEOT?

(A) X 600 (B)X 700 (C)x 800 (D)X 650

Find the value of\/77— \/150+ V366 — V25

(A) 13 (B) 16 (© 19 (D)8

j77 — \/150 + V366 — V25 -r WG STevoras

(A) 13 (B) 16 (© 19 (D)8

177. As per the 2011 census, which district of Tamil Nadu possesses lowest child sex ratio?

(A) Nagapattinam (B) Cuddalore

(C) Ariyalur (D) Perambalur

2011-94D 3L,600T(H) D& GSHETRH TN HeooTee & HLILNGTLIG, HLNLDBITL Q60T 6TH& LOMeUL L LD
GEMEUTET GLPIHeng LIMeSleT S &H5e0ns @ 85 meoor(h 6iTemgi?

(A) BT&LULLL60TLD (B) &sLsuriy

(C) oiflweuriy (D) QuplbugTy
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178.

179.

180.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCKTEST- 3
Assertion (A) : Ramanthapuram and Sivaganga districts were severely affected by drought
leading to very less remuneration to farmers
Reason(R) : The success of the crop cultivation in these two districts depends mainly on
the rainfall received during the North East Monsoon.
(A) Both (A) and (R) is true and (R) is the correct explanation of (A)
(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
oo (A) : @UTLBTSYTLD WMHOID FeUsHEIN S DMeUL L BIS6T eumL GWImey
HHMDWTEH UTH&HELILULLSTL alleusmuilsens @ WeHseH Gmmibs
QIHLOMETLD B G553
srgeord (R): @bs @uevor( Wmell Lmiseflann uully Fmr@uly Qeumnléasmer (S
SITT60OTLD QUL SLPE G LIHEULDEMLD G LD.
(A) (A) o (R) &1, (R) - oyeora (A)-eor siflwimet ellengasLn
(B) (A) nmomuid (R) &1, (R) - aypeorsl (A)-60r Fiflwiment eflemnssssin jevev
(O (A) #1fl epermev (R) gouay
(D) (A) mougy syeormev (R) &1

Choose the correct statement about Amma two-wheeler scheme

1. Subsidised Scooter Scheme for working women in the age limit of 21 to 45

2.  Maximum subsidy of Rs.25,000/- or 50% of the cost of the two-wheeler whichever is less
is given to the beneficiaries.

(A) 1 only (B) 2 only

(C)Both1and 2 (D) None of these

S|DIOT @b F&H&T aUMGeTD S LD LUmhMw Filumer gamems Cs5IHO S M

1. GCauMmMeGGE QFID 21 (NS 45 QUWISIETET QLIS EHSEG Wmeflw aflemeuuilev
NG LT QUPMHIGLID S L LD

2. LWermell&HEpsHE& @MFSHST aunsHarsHear allemeuiley 50% Sj6v6val €H.25,000-
@eaummlev 678 GOMBAIT 3HHS C&Tem& DM ILILTS eUPHBIGLILGSH MG

(A)1 (b (B) 2 nL_ (b

(©) 1 mHmid 2 (D) @eummlev 6166066V

Which scholar was called as Andhrakavita Pitamaga in Krishna Deva Raya’s court?

(A) Pingali Suranna (B) Tenali Ramakrishna

(C) Allasani Peddanna (D) Nandi Thimmana

S megerr CaauTTWy emauiuiley QMBS eThS AMET wHSTHIGT NSTIOS&T ererm
SEMLPGHHLILILLTF?

(A) NrkIs6d & edTeoTT (B) Qmeormed @1 mLn SR (H61q.600T T

(C) o16v6v& M6l QLIS S 6v0T 60T IT (D) & SbneotT
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCKTEST- 3
181. Which of the following acts as a needle to read/write in compact discs?
(A) Polarised Laser Beam (B) Unpolarised Laser Beam
(C) Polarised Maser Beam (D) Unpolarised Maser Beam
Yereueusoreummley 615 2en&Flpement CUIMET QFWULD), &MbHSHH G660 L&
VLG QF WG &HemeTL! LUFH e Qaulwls LweTUGSRmS?
(A) semallemeTauenl b5 CeuFT HMHenm (B) semallemereusn_wmg Geu&FF SsMemm
(C) serallemenauen_b& COEFT &HMHenm (D) searaflemeTalemn_wng COEF &menm

182. Which of the following officials is/are appointed as well as removed by the Governor?
1. Advocate General of the State
2. State Election Commissioner
3. Members of the State Public Service Commission
4. Members of the State Human Rights Commission

(A) 1 only (B)1,2and 4 (C©)1,3and 4 (D) 1,2,3and 4
Nereud B smiflsefley oL@bBImsy Bluweripnd Usell BéHspn QEFuwiUGCaTF
wimeur?

1. IDMBl6V HEMEVEMLD QLD S M EHIT

2. IDMBI6V CHIS60 3l,60)600T U [T

3. IDMBl6V 98U Lieooflwmery G5 Ieumeneooriss & W 2 miLILNeorIser

4. I0MBl6v D6oT1S 2 [flemIn G 6T 3L, 6m60oT WS & (WD 2 MILILI 60T T & 6T

(A) 1L @D (B),2wmgibg (O 1,3woOab4  (D)1,2,3w0HOHLD 4

183. Which of the following are contraception methods?
1. Barrier methods
2. Hormonal methods
3. Intra-Uterine Devices
4. Surgical methods
(A)1,2and 3 (B)1,2and 4
(C)2and 3 (D) All the above
B LD G 600T L UM MIGT 6Tem6U & (H& S 0L (LM T6IT?
1. SGOILIL (PO ESH6IT
2. T GLOITET (LD6DYM &H6IT
3. SGLmLIUNeI6T QUTBSSLILIBGILD & (1HE S0 FTS 60T 15 6T
4. miemel FHFengF (LN &6T
(A) 1, 2 HmID 3 (B) 1, 2 o mild 4
(C) 2 bmmib 3 (D) Gom&s600TL. 3|6Mm60TSH SN

184. What is India’s rank in Human Development Index— 2019?

(A) 129 (B) 130 ©) 141 (D) 140
06oflg eueT GLUTL(H& GMIUIB 201960 GBS WM 6T SFITTH60I6V 6TEOT60T?
(A) 129 (B) 130 ©) 141 (D) 140
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185.

186.

187.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Choose the correct answer from the following statements

1. Grant of Dominion status

2. British control of defence during the war

3. The Congress and the Muslim League rejected the proposal

(A) Cabinet Mission (B) Wavell Plan

(C) Cripps Mission (D) Simon Commission

FELDG&H600TL. FnMMIG6flev @mh& Fiflwmer ellemLemnwisd CHTHOSES M

1. HTeTTL & 3HG&H6erval (ALl eT H&GH) aULpmhIEG 6l S

2. Gumfler GUME LUMESTLILS Slenm LNFLIgaqmifler s GUUmL g6 @LILS

3. HMRIGT LHmID  wevellld 656 @rUeor®GCL @bss HLL IAMEnsenl
Iy &S s eor

(A) SN EFTMES SHTHIGHG WD (B) Geuauev H)L_L LD
(C) @fllev grsisG W (D) em& o6t &Ll6q 60T
“Who aims at elephant, though dart should fail, has greater praise.

Than he who woodland hare with winged arrow slays”

Which is the high esteem liked by Valluvar?

(A) Rabbit hunting (B) Elephant hunting
(C) Great effort (D) Enough effort
"GITET (PR 6VUIS SibLNeoflev Wimemeor

NeopgsGale gfhghe @ eoflg”

QUETEBHEUTTEL el(HLOLILILIL L 2 WG 600TLD 6TS5I?

(A) wowiev Gaul_emL (B) wimemeot Geul el
(C) Qu@EpL WwmHE (D) GumaInmeoT AWM E
Choose the correct statement regarding the State’s consent with respect to bills

1. There is six months time limit for the states to give consent in those provisions of the
Constitution which are related to federal structure of polity.

2. Bills related to the formation of new state or changes in the existing states of Union of
India have no time limit for consent of states

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) None of these

ETTEUENTE & EH &G LMDV STHET eLiLgHev Lnmlw Fflwmer sadenms CHIHOSM0

1. SIIFar Gl LTl H emlLLeT QSTLILLU (NETalenTalsE LDMHleVH SGe6T
RLILS60 6fldss 6 0TS &6V auemFUlenm 2 600r(h

2. @QBHW eaTHWSEHO LHUW MHIHEIGEEET 2 (HeUTHGaS Vg SMHELIMS
@@HSGLI MBleVEGeflev WTHMEISGSET QFUW6G QSTLIUMeT (WeTeuamnyellh&
IDTBlVBIGET SHng LiLsamey 6fleEs ahsllGInmear &MV aUemTulenmU]LD

e WIMs!
(A) 1 10 @b (B) 2 ol (@b
(©) 1 Hmid 2 (D) @eummlev gaiLslsvemev
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

188. VoWiFi (Voice over WiFi) initiative was launched by

(A) Vodafone (B) Jio (C) Bharti Airtel (D) TRAI
S(HSHM6V QULPILITES CUEFHFS QML L] (Voice over WiFi) WITIMT6L SleUmISGLILIL L SI?
(A) GeurmrLGuimedr (B) glcewurmr Q) urmrs gi@Lev (D) TRAI

189. 1. He was also known as Rajasimha

2. He exchanged ambassadors with China

3. During his reign, the famous Kailasanatha temple at Kanchipuram was built

Choose the king mentioned in the above statements

(A) Mahendravarma I (B) Narasimhavarma II

(C) Narasimhavarma I (D) Simhavishnu

1. @6 JTFIDLNGIT 6T6Ta D MG SHLILILLTT

2. FaormellMHG FNSI5 (D5 &HEM6T &L ILN6oTITT

3. @aBmLW WLH HTUSEH LUHL QUMM &TEHH &seonFhrsy  Cosmailey

SLLLULLSG
GLM&HETITL. FomMIG6flev GMILILLLIUL B6Term SipsFemner CHTHE &M
(A) (Ws6umd IDCSHBHES T[T LD 6T (B) @uevorLiTLD BT & LDLDGU T LD60T
(C) Whs6vIMd HFFIDLOGIIT LD 6T (D) Ao elleg sm
190. Where is 36t International Geological Congress going to be held?
(A) Russia (B) Indonesia
(C) India (D) Australia
366us FieuCs & Lieullwev mBm(h 6THIG HenL QLM 2 6TeTsI?
(A) geiquum (B) @begmGeradluwim
(©) @nswm (D) ep6v&Grediwim
191. The speed of three cars are in the ratio 5 : 4 : 6. The ratio between the time taken by them to

travel the same distance is

(A)5:4:6 B)6:4:5 (©)10:12:15 (D)12:15:10

eL6TMI SMTF&H6Tl6T Gaudsmigerfler G WeMCW 5 : 4 : 6. QHS CLOETMI HTFH6T GT
SMIHMG &L&5 6T(HH SIS QG&MeTEBLD GBImiseTler el L.

(A)5:4:6 (B)6:4:5 (©)10:12:15 (D)12:15:10

192. Sixty machines can produce 4850 mobiles in 5 hours. How many mobiles would 25 machines

produce in 6 hours?
(A) 3215 (B) 2425 (C) 4250 (D) 4210
ML QUBHIHIGET 5 L6l CBHISH 4850 QFLMAILLICLUFSGmeT 2 MLSH
QF IR eTmeT 6T60l60, 25 @ WITHEH TMHIG6T 6 060l CHTSHH 6V 675 Hem60T GF6L60L LI GLIF&Heme6rT
2 (HEUMT&HGLD?
(A) 3215 (B) 2425 (C) 4250 (D) 4210

Page 50

Kindly Send Me Your Key Answers to Our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

193.

194.

TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

Choose the incorrect statements

1. According to NASSCOM the southern states continue to account more than half of the
country's total export and import of software.

2. Tamil Nadu and Andhra Pradesh together account for 59.6% of India's total software

exports.
3. Tamil Nadu is the second largest software exporter in the country next to Maharashtra
(A)r1and 2 (B)1and 3
(C)2and 3 (D) All the above

SEUDTE Fa DOHMETS CHTHOS b

1. NASSCOM-eor uLlg, BILIQeT OQT&HS QETQUTIHT gmming  mHmib
@MEGLEHUNL QFeT WMBleVBEIGHT UTHEGWL GCe uUmsefllaomu Qg
61 (H &) 60T M 60T

2. sUlpsd HMID WHHTINTCHEFLD G emenrhal @hHSHWTeler QLOMSS GL06TE LITIH6T
gHmIEUNeL 59.6% 3 G &F IS 6TMm 6.

3. W&TITaTTeHEG SHSSLIGUITS, BTLLY6T @eorlmelds Quflul Q6T U TIHeT
gHmING) Q&FUIWLD ITBlens SLOILBITH 2 6Tersl.

(A) 10D 2 (B) 1 OO 3
(C)2bmmib 3 (D) GLoM&H600TL. | 6M60TS SILD
Choose correct statements regarding Tamilnadu Economy

1. The Service sector is one of the vibrant sectors of the state economy and Tamil Nadu
accounts for about 12% of India's software exports.
2. The manufacturing industry broadly covers manufacture of machinery and equipment,
motor vehicles and repair of capital goods.
3. Tamil Nadu's share of the industrial output is around 11-12% of the country's output
and 15% of the country's exports excluding software.
(A)1and 2 (B)1and 3
(C)2and 3 (D) All the above
SOLBTEH QUITHETTSTID LImMIW Fommisefley Fiflwmeareanss CHIHE S0
1. Coemeusd Slemm eeTUZE MBIV QUTHETTSTISFH  SIQLIUTer  Slenmaserflev
RETMHTGL MM @BEHWmeler QUaTQUTIeT gohmnGulley SLOLBTL 19 60T
LmigseflliL] 12% 94L&l
2. 2 HMUSGHG M 6TOTLS Q@QUBHTBEIGET WOHMID @&F 2 LISTermhiger,
QIMTGETIMHIGET MM LUWE UTFHEGWL  s;elsaear 2 MUSH QFuIse
AHWeIMeNM 2 6TeTL &G W S
3. Qzmdlevgienm 2 MUSHUNE SEDBTL Q6T LMIEG BTLIge 2 HuSHUIlh gmeETp
11% WaeL 12% auengullavld, QETQUTIHemeT SNisHa BT Q6T ghminHuiley 15%
LImIgs eI Q& 18 edTm 60T
(A) 1.HuDd 2 (B) 1 bHad 3
(C) 2 bpmild 3 (D) GLom&600TL. S|6060TSH SILD
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

195. Which of the following are the discretionary powers of the Governor?

196.

197.

1. Administration of adjoining Union Territory.
2. Dissolution of State Legislative Assembly if the Council of Ministers has lost its majority.

3. Recommendation for the imposition of President’s Rule in the concerned state.
4. Reservation of a bill for the consideration of the President.

(A)1and 3 (B) 2 and 4

(O 1,3and4 (D)1,2,3and 4

LY edTeueueoTeumMmlev @B 60T e [HLIL SIHE&TTHISET UTemn6u?

1. HCS 2 616 Weoflwiet LNTCHaF 5T 60T BlJeUmaHLD

2. YMFFTMEUS &L HEUTH G TeM6U @)LOHSTE LOMBI6V FLLFOLIEMUIS 8560)6V8 560
3. DMBIVETE GIQUTHS Hemevel] L Flemuld Q& meoor(hed] LIKHSenTs 60

4. FLL (NETEUENTESM6T GLYULITES Henevalfle &HaleaTsHME& CHE: 5 60615560

(A) 1 Omid 3 (B) 2 nHmiLb 4
(©) 1, 3 DHmID 4 (D) 1, 2, 3 LDOMILD 4

Who was called as “Barid” during Delhi Sultanate?

(A) Prime Minister (B) Chief Justice

(C) Spies (D) Finance Minister
QL6ved FevgmenflLGH6L "ML eT6oTMI D 6MLP&HSHLILIL LT WITH?
(A) Yrgwo wp& i (B) semevemn BH LIS
(C) @Dmy&er (D) pI& siemwn&er

Choose the correct statement with reference to the system of representation in the Parliament

of India

1. Constitution has adopted the system of proportional representation in the case of the Lok
Sabha but not in the case of the Rajya Sabha.

2. There is a system of territorial representation for the election of members to the Lok
Sabha.

3. The system of proportional representation does not secure due representation to

minorities.
(A)1and 2 (B) 2 only (C) 3 only (D)1and 3
@BHWw UMgmEsaTwsHe UIrdpGsaea weon &Ulss Fflwuna smbhons
CaHIHOSME

1. rflweeminlll] W&E&HMMIEGE RsTedsmy HNreHplesasel  wemmenul
JMHMIGQ GTE00T LI, LOITBl6V IS 6Tem6U &(E 606V

2. &Ml 2 MILIeTIsERssTar CHFHN0 QsMTGH eyl LTS BISHSSen wWwenm
WNetummLLGSH M

3. &srgamy oo mle s sial (WLenm &) mILImedTem Lo U 60T (15 & & o fflw
oo plesaas5ans 26 sasalevemnsy

(A) 1 MHmILD 2 (B) 2 (b (C) 3 LG (D) 1 ommild 3
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TNPSC GROUP II/IIA PRELIMS- 2019
MOCK TEST- 3

198. The first ever National Agriculture Policy was released by the Government in

199.

(A) 1991 (B) 2000 (C) 2005 (D) 1967
W&V CHF W GeUETTE00T G\&ITETEN S 6L TFMeL QeueflWIlLLILIL L g
(A) 1901 (B) 2000 (C) 2005 (D) 1967

Choose the correct statement about Railways in British India

1. Commerce, administration and defence are the reasons for introduction of railways in
India

2. Railway lines connecting from Calcutta to the Raniganj coal-fields was opened in 1856

3. During Dalhousie period, railways were introduced in India for the first time

(A) 1 only (B)2and 3

(G 1and3g (D) All the above

AL geq @bsHuwmellev ullsvLimeng LMW Fiflumer gamenms C&HIHOS M

1. eUmesoflLILD, BlFeUMssLD LDMMID LIMSISTLIL Sp&ueneal @bHluimellev gullevLImens &6
MW SHLID QEFUIWILILIL S5TJ600T HIS6T &L

2. HUHSHTMEUW LD JTTeoll&HEHF BlevsaIf] &I HIG MBS 6T @)6metord: @& TuileuLImens
1856-9410 21,600T(H QST BISLILIL L Sl

3. pWleoLImen s &6 @bHwmalley (WWSHOWMMUWTSE Lamead STusHe AMWsLD
Q&FWWILILIL L 60T

(A) 1 DL (D (B) 2 nmmilh 3

O 1mmib 3 (D) GLom&s6v0TL. 3|60 60TS SILD

200.Johor Cup related to which of the following sport?

(A) Cricket (B) Football (C) Hockey (D) Squash

Gxmamy CamlemL LleTeubLd 6ThS ellememumL_(HL 6T Q&ML ILjemLWLGI?

A) &0 (B) ssmevLimB sl (C) ammss (D) env@eurmeq
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